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0000000000 00o00oUuo0o0oU0oU0g FOOO SooOooooooooo

O000O00000o0oOoOoOoOoOooOoOo s ooboUoooooooo
000000000o0o00oo00o0oo0Uo So0oUoo0o0moO FOOOO
ooomooooooooobooooooooooobooboDOooboooboOoon
gobobobooboooobooooooooooooobobobobad

00000000 00000800000 AO0O0DOODOOPHX =k)=,
Cyp¥¢**0000,C, 00000000 n000000 k0000000000
0000o0o0oooooU000oDoooO00U0UoooOo00 Xomooooooood
O000X ~B(n,p) DOOO0E(X)=np, V(X)=npgOOOO
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n=4 n=10
0 1 2 3 01 2 3 4 5 6 7

= n=50

n=20
o 4
ﬂ_ ||I

o III III-_ o

01234567289 3 6567 9 12 15 18 21

400
J

200
|
200
|

50 100

0

200
J

140
J

100
|

100
|
60

50
|
20

023 0000000000000

213 DOO0OO0ODDOOODOODOO

O0oooooooooobD 2000000000000000000000nO
(n=4,10,20,50) 000000000000 D0O0OOOOLOODOODOOODOOO
000000000000 0000000000O00000000D000000 0.2
ooooooooooobboo2000MMmO0O 0000000000000 2300
O0ROODOOOOOOOODOO

times <- function(n) {
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hit <- 0

dice <- as.integer(runif(n,1,21))

for (j in 1:n) { if (dice[jl<5) { hit <- hit+1 } }
return(hit)}

a <- c(4,10,20,50)

op <- par(mfrow=c(2,2))

for (i in 1:4) {

nx <- ali]

y <= ¢(1:1000)

for (k in 1:1000) { y[k] <- times(nx) }
barplot(table(y) ,main=paste("n=",nx))

¥

par (op)

214 OO0O0OODOOOO

O000002000000000000000Pr(X =k)=, Cx0.2°0.8"7% 0
00 240000000RO0O0O0O0ODODOOOOO0O0O

a <- c(4,10,20,50)

op <- par(mfrow=c(2,2))

for (i in 1:4) {

n <- alil

k<=0

chk <- c(1:n+1)

while (k <= n) { chk[k+1] <- choose(n,k)*(0.2°k)*(0.8"(n-k)); k <- k+1 }
barplot(chk,col=’red’ ,main=paste("n=",n))

}

par (op)

O00RODODOODODOO0O0OO0OO0OD0O00O00OOO Xhoose(n,k)*(0.27k)*(0.8"(n-k))
O dbinom(k,n,0.2) D0 0000000000000 O00OOOOOOOOOOO
oobooooboboooboobooooboooOoooobooOoboOobooOoOoobboOooboboOooon
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n=4 n=10
S -
o
I I I [ J I||III_

n=20 n=50

0.4

0.3
0.20
|

0.2

0.10

0.0
0.00

0.08 0.12

0.00 0.05 0.10 0.15 0.20
|
0.04

024: 000000000

ooobooooboooboboooobooooooobooOoboOoooOo0oobbOooobobooon
ooobooooboooboooooboooOoooOoboooOoooOooboboooobooboooon
ogo

215 0O0OOO

n000000000000000 B(n,p) 000 Pr(X=np+d)000000

1 2
V2rnpg P (_ 2npq>
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ooboooooooooooobonObOOOOOOO0OOOOOOOOOOOO

oy 1 (z—p)?
PT(X—.’IZ)—*WGXP (—T
DDDDDDDDDDDDDDDDDDDDN(#,UQ)DDDD
z=(x—p)/c00000O

Pr(Z=2) = \/% exp (‘T’"z)

000000000000 000O0OON(0,1))D000DObO00DOOoODOOo
000000000000 ¢0000 FOOODOOOODOOoOOoOODOoOOoooooo

gg

00000000000 0000000000000000 ROOOOOOOOO
goboooobobooobooobooboooo

goooo gooooo gooooOo0O0O0O0OooooOoOoO0OoO0Oon goooo
(probability density function)  (distribution function = (quartile function)
probability generating function
cumulative probability density function)(4)

0ooooo dchisq(000O00, 000) pchisq(00000, 000) qchisq(0, 000)

oooo dbinom(000O0, 000D, 0O0O) pbinom (0000, 0000, 000) gbinom (0, 0000, 0O0O)
oooooo dpois(0000, 000) ppois(0000, 000) qpois(0, 000)

pooo (1) dnorm(0000000000000) pnorm(0000000000000) qnorm(0, 00DC0OOOO)
oooo dlnorm (00000 plnorm(0000000C00O0 qlnorm(0, 00000

oo (2 0ooooooooooo) ooooooo) ooooooo)

nooo (3 dunif(000000000) punif(000000000) qunif(0, 0000000)
too dt(t0oooo) pt(t00000) qt(0, 000)

Foo df(FOO000000000000) pf(FO000000OOOO0D) qf(0, 00000000000)

(1) 000000000000000000000000 (00 0, 0000 1)0000

(2) poPODDNODODDNODONON0000000 0, 000000 100000000000000000000000000000000000000
00000000000000dInorm(1) 0 dnorm(0) 00000

(3) 0oo0o0000000 00 10000

(4) ROOODODODO0O0O0OO00000000000000000000000000 100000000 100000000000 runif(1000,0,1) 000000
00 10000000 0.200000000000 1000000000000rbinom(1000,100,0.2) 0000000
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0000000000000 000000000000000000000000
00000000 M0O00000MO0O000000000000Nonnoooonon
0"l 000000000000000000000000000000000000
0o0o00o*2o

00000000D00000000000000000000000000000
0000000000000 0000000000000000000000000
00000M000000000000000000000000000000000
0000000000000 0000000000000000000000000
00000000000000000000000000000000000000

*l0000000000000000 ADODODOOOO0ODO0O Ry,Rs,..,R, 0000000
00000000 a=<A,R,Rs,..,R, >00000000000000000000000
BOOOOOOO 8,85s,..,5,000000000000000 8=<B,51,52,...,5, > [
0000000 BOOOOOO ADODOOOOODO z,y(z,y€ A) D00 f(z),f(y) 0000
(f(),f(y) e B0z 0O yOOOOO Ry, Re,..,R, 00000000000 BOOO f(x) 0
fly) DODOOO S1,89,...,8, 00000000000000000000000000 000
040000 “000007’0000000000000000000 «0000000000 8
0000000000000000000000000 <A,B,f>000000B000000
0 ¢00000000000000000000000000000000000 000000
000000 ¢000000 fO00000000000000000000000000000D0
0000000000000 O0000000000000000@MO00000000000
0000000000000 0000MO000000000000000000MO00000
0000000000000000MO0000000000000

*2000 Stevens 100000000000000000000000000000000000



28 030 0000000000000

ooobooooooobooooooboooOoOoobooOoooOboOoobObOobobDoooon
0000000000000 0D0O00DO0U0OOOOOO (dichotomous variable)d0O O
0000000000000 0000000000000 (trichotomous variable)O
goooooooooooOooooOoUoOoOooooooooooooooooooo
ogoooobooooooooooooooooooooooooooooooooo
oooooobobooobobooooboboooooboooboobooobooobboobbbooo
ooboooobooooboooo
oobooooboooboobooooboooooboOoooboOooobooboOoOooboooo
oooboooobobooobobooooboooooboOobooboOoooOooboboOooboboOooon
oooooboomooooooooooo

32 0000 (nominal scale)

e 1000D0DDODODODONODOOONONDODOOOODODDOOD

e J000DO0DDDDODONDNDNONDONDONONDNODONODODOO

e 1000D0O0DONDONONDONDONDONONONDNONDODO MOODDOOD FOO
000000000000000000000000000 100000 20
000D00000000000000000000000000000000
O00DO0codingd 000000000000 D0DO00O0DODOOO0
0000000000000 0000000000000000000000
0000000000000 000000 1000000000000000
200000000 300000000 400000000000000000
00000000000000000000000000000000*0

e 100000 DONODODONODONONDODONODONONDODONOONONODNOODOO
0000000000000 0000000000000000000000
0o0ooo*o

* 000000000000000000000000000000000000000000000
goo0obooo0oooOoooO0oO0bOOoO0OO0DOOO0OO0OO0O0DOOO0OO0DOOO0OOOOO0DOOOOOOO
00o0oo00o0o0oO0o0o0o0oO0oO0o0b0oO0o0o0o0o0o0o0oo0oDo0o0 MOOOO FO
00000000 10000 200000000000000000000000C0OO00O0OGOOO
goooo

* 000000000000 00000000000000000000000000000000
000000000000000000000000000000000000000O000O0O0
go0oooooOoboOoO0Oo0obOOo0OoOo0OO0O0O00O00O0O00COO0OO0OO0DOOOODOOOOO0O0
go0ooo0o0o0b0O0O0000O00000O00O000000O00DOOO0O0O0OOO0mMObO000
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3.3 0000 (ordinal scale)

e 1000DODOIODNONDODOONONODOOOOOODOOD

e 1000DDIONONDDONONONODDONONONODODODONONOONODODDOOO
O+++0++0+0+0-0000000®MO00M0OO0MO0O00 3,2,1
0000000000000 00000000000

e 0000D0DDDDODOONONONDNONONDNDDDDDDDDOOOODOON 3,
2,100000015, 3.14159265358979, 1 000000000000 OOO
0000000000001 0000000000000000000000
000000000000000000000000MO0000000000
00000000000 00000D000000000000000000
00MO0000000000000*00000000000000000
0*'00000000

e 1000DODDODDODONDONONDONDONONDONDDNONDODONODNODOO
0000000000000 0M0O0MO0mMO000 3,2,100000
000000MO0O00000MO0000000oNo0mOooooonooog
00000000 s5,4,3,2,10000000000000000000000
000000000000 000D00000000000000000000
0000000000000 0000000000000000000000
00000000000 000000000000000000000000
00000000000 000000000000000000000000
0000000000000000000000000e000000000
00000000 0000000000000000D0000000000
0000000000000 0000000

gooooooO0o0oO0o0oo@mooOoO0oOoOoO0ooooooO0o0o0o0oOooooooOOo0o0oOoO0OoBoooon
goooooOoo0o0o0oOoooOoOO0oO00000O0oO0O0O0000000O0O0O0000O000000O0
goooo0OoO0obO0OoO0OO0oOOobO0o00o0

* 000000000000 3,2,1,05,00000000000030200020 10000
goooooO0ooo30 200000000000000000020 100000000000
go0oO0oooOoboOoO0OO0bOoOoOon

0000000000000 0000000000000000000000000000000
oooo

*00000000000000000000000000000000000000000000
ooooooao
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34 0000 (interval scale)

e 00DDOODDOODODOOODDOOODODO®

e J0IDOOOODOODODODDOOOOODOODODOOOODODO 30000000
o000 1000000 200000000000000000000000A0
ooo0o0o0o0oooOo0o0o0o0ooooOoO00O0 2000000000000
03000000000 2000000000000 00oooOoooboOon
ooooood

e JI0OOUODOOOODOOOLUOOOUOOOLODOOOODODOOODOOOODOO
0o0000000DO00oooooooooo?

3.5 000 (ratio scale)

e 100DDO0DDODODODODODOODOOOOOOY

e IDDemIDOODDODODODOkO0O0DODODODOODOOODOOD
000000000000 00000000000000D0000O0ooo
O *IID

36 JOOOOO

ooboooobobooobboooobobooooboooobooooboobooOoOooobooaoon
gobooooooooooOoOoOoOoOoooooooooooooooooooooo
ooooooooooooooooo

¥ 00000000000000000000000000000000000000000000
oo

“000000000000000000000000000000000000000000000
000 emI00mOO0000000D0000O00O0O0000DOO0O0O0O00O0DO0O0O0O100cm O
00000 emO000170cm 000000 2emO00000000C0O0O0O0O0O0OCOOODOO
goo0ooboOo0oooOooo0oO0boOoO0OOO0OO0OOO0O0COOO0OOOO0OO0OOO0OO0DOOOOOOO
goobooooooooooooboOoO0O000o0ooob0o0O00000OoOoOoO0000000

10 opoo000000000000000000000000000

1 Op0o00000000000000000000000000000000000000000
go0ooo0oO0o0b0O0O00000000000O00000O00000D0O00
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oobooooboooobooboooobooooooboobooboOobooOoboOoboOoOoOooboooo
ooboooooo

361 O0OO0O0OODO

oobooobooobooooooooooooooooooooooooooo
0000000000000 00 XOOOOORODO barplot(table(X))
ooooooo

000000000000 ooo0o0ooo0oooooooooROO

fx <- table(X)
barplot (matrix (fx,NROW(fx)) ,beside=F)

ooooooo
Ooo0oO0oo0o0o0o0ooo 1o0000o0o0ooooooooooooooooo
oooooooROO

px <- table(X)/NROW(X)
barplot (matrix(pc,NROW(pc)) ,horiz=T,beside=F)

ooooooo

e 000000 00ODONONOONONONOODIUOOO 0000000000
00000000000000000000000000000000000
0000000000000 0000000000000RO0 pie() OO
oooo*t?g

362 0O0O0O0O0OODO

ooooooooooooooooooooooooooooooooooo
O000O0OROO histOOOOODOODO

e J0000O0OOOOOOOUODOOUOOOOOOOOOODOOOOOODOO
0000000000000 0000000000mMR OO0 qgunorm() OO
ooooo

*12R-1.5000 piechart() 0000000 OOOOODO
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030 0000000000000

e 000D (stem and leaf plot) D 0000000000000 500000 10
goobbooooobobooboobobbboooobooobobbooooobo
0000000000000 0U0U000o0ooo0oOoROO stem() OOOO
ooo

e 0J0DOD (box and whisker plot)0 0000000000000 DOODOOOO
000000000000 (median) 000O00O0ODOODOO 1/400000
000000 (first quartile) 00D DO00000 1/400000000000
(third quartile) 000 0000000000000 0OOODOOOODOOOO
gbobobobobobooboobooboobooboobooboooboobooboon
00oooooodgooooooo 5000000000 UUggoUuooo
gobooooboooobooooobooooboobobooobobUbebUOoD
oobobooboobooboobooboooooobooboobooboboobobooboo
000000000000 0000000000000000000R OO
boxplot() DO OODOOO

e 0D OO0ODODOOODOODOODOOODOODOODOODOODO
gboboboboobobooboobooboobooboobooboooobooboobon
goooooboooobooooooboooobooooboooboboobobooo
goooooboooooooooboooobooooboooboooboboooD
O000D0OROO stars() DOOOOODO

e 00D (scatter plot) 000000000 DOO0DOOOODOODOODDOO
O000000OROO plot(O) 0000000000 OOODOOOOOOO
00000000 plotO O pchO000OOOOOOOODOpPoints() O
gooboooobobboooobobooboboboooboboooobobooon
symbols() 0O O0OODOO0O0OOOOUDOOUOOOOUOOOOOOOOOO
0000000000000 matplot() 000 matpoints() OO0 OO00DOO
0000000000000 000D000 pairs() DOOOODODOOOOO
0000000000000 000000 textOODO0O0O0O0O0OO0O0O0OOO
0000000000000000000000 identifyQO O0O0O0O000OO
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frequency bar plot cumulative bar plot
® - 1
© - v -
< o S A
] IIII N
o IIII -
0 1 2 3
OBI-graph Pie chart

1
0
3
2
T T 1
0.6 0.8 1.0

031000000000

0.0 0.2 0.4

37 DO0O0OOoOooO

20000000000000000002,3,1,0,3,2,2,1,1,1,2,2,1,3,2,1,
0,2,1,100000000000310000000000%3

*13RO0000000000000

child <- ¢(2, 3, 1, 0, 3, 2, 2,1, 1,1, 2,2,1,3,2,1,0, 2,1, 1)

fc <- table(child)

pc <- fc/sum(fc)

op <- par(mfrow=c(2,2))

barplot (fc, main="frequency bar plot")

barplot (matrix(fc,NROW(fc)), beside=F, main="cumulative bar plot", col=rainbow(NROW(fc)))
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030 0000000000000

Frequency

10

Histgram

Sample Quantiles

prec

Box and whisker plot

Normal QQplot

Theoretical Quantiles

Stem and leaf plot

3

128

8
1126777
022567

3358
8
7

[SECR R NTINY
o
~

4
-

032 000000000

33 DO0OO0OOO0OO0OO

0000000000000000000000000000000000000
0oo

3.2, 3.1, 5.1, 4.8, 8.3, 9.8, 8.3, 6.6, 5.1, 3.8, 5.2, 5.6, 6.5, 5.7, 5.7, 7.4, 6.2, 7.0,
6.7, 5.7, 6.2, 6.0, 8.8, 10.7, 8.5

0000000 ROOOOOODOOOOOO 3200000000000

prec <- c¢(3.2, 3.1, 5.1, 4.8, 8.3, 9.8, 8.3, 6.6, 5.1, 3.8,

barplot (matrix(pc,NROW(pc)), horiz=T, beside=F, main="0BI-graph", col=rainbow(NROW(pc)))
pie(pc, main="Pie chart", col=rainbow(NROW(pc)))
par (op)



3.8 000000000

35

5.2, 5.6, 6.5, 5.7, 5.7, 7.4, 6.2, 7.0, 6.7, 5.7, 6.2,
6.0, 8.8, 10.7, 8.5)

op <- par(mfrow=c(2,2))

hist(prec, main="Histgram")

qqnorm(prec, main="Normal QQplot")

stem(prec,?2)

boxplot (prec,main="Box and whisker plot")

par (op)
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goooboooooboooooboboobobbooooobboooooboooo
00000000000000000000000000D00000 (descriptive
statistics) 0000000

gboboboooooooobooboboboboboboooooboooooobooon
DD[l[lDDDDDDDDDDDDDDDDDDDDDDDDDDN(M,O’Z)DDDD
00000000000 w000 ¢20000000000000000000000
DDDDD/LDDDDDDDDDDDDDDJ2DDDDDDDDDDDDDDDDD

0000000000000 D0D000000000000ooo0000oog
gbobooobooboooboooboooooooooboobooboobobobobOobOoDbo
gbobobobobooboooooooboobobobo

000000000000 central tendency0 0000000000 O0OOOOO
0000000 variabilityD D0 OO DOO0OO0OO0OOO

00000000000 O0Grimm (1993) 00000000000 DOOOOOOO
gbobooooooooooooooooooobooboobOobobOobOoDbOoDbo
000000000Grimm 000000000000000000O0O0O0OOO0O0
oboobobobobo

000000000000 00000000000000000000000000000000
goooooooboo



38 040 000000000000O000000

4.2 0000D0OJCentral Tendencyl

421 0000 meanOd

ogobooooboooboboooboboooobooooboOoooboobooOoOooobooOoo
goooooooooooOoooooUoOoOooooooooooooooooooo
goboooboboooooooooooooooooooooooooooooooo
oooooobobooobobooooboboooooboooboobooobooobboobbbooo
oooo

oobooob pboboOoOoobooooobg

0000XO00000000000000000NOOODOO000O0Y. 0000
00000000000000000000000000000YX =X, +X,+
X3+..+Xy000O0
0000000000000000000000000000000000000
000000000000000000000 X00000000000000o0

. X
xoxX
n

0000n00000D0D0000DOO00O*0

oood
0005, 8,10,11,1200000000000000000 ]

000000000000 0000000000000000000r =0+
8+10+11+12)/5=920000000000000000000RO0O0O0
O00000O0Omean() OO0O0O0O00O0O0DOODOOOOOOODOOODOOOO
mean(c(5,8,10,11,12)) 0000000

00000000000 Central Tendency 00 000000000000 0OOO

2 0000000000000000000 X000 X0000000000000000000
000 XO0O0O0OOO0O X0O000oO0O00o00000000000000000000000
000000000000 00000000 X6000o0o000000000000000000
0000 X0O000ooooooo
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0 (median) D000 (mode) D00 0000000000000 00000000O
0000000000 (centrality) 100000000000000
000000000000D000000000000000000000000
0000000000000 000000000000000000000000
0000000000000 000000000000000000000000
0000000000000000000000000000000 X—-X00
00000000000000000000000000002000000000
0000z=X-X0OO0O0O0DO0000O000000000000000000
00000000000 0000D000000000000000000000
0000000000000 0000000000000 00000000000
Yr=3(X-X)=00000O00D00000000000000000 000
00000000000000000000000000000000000000
000000000000000

ooo

00 A0024,6,8,1000000000000000 BOO2,4,6,.8,300000
000000000000000 A0DDODOOO 6000000000000
00000-4,-2,0,2,40000000000 0000000 BO00O0O0O
oooo

00000 (244+46+8+30)/5=100 0000000000 00 —8, —6, —4, —2, 200
000000000000000000000 BOOO AOOODOOOOOOO

422 000000 (weighted mean)

goooooobooobooooboooobooobooboOoooboobooOooooboooo

oooooobooboooo
X,:nl(Xl)—i—ng(Xg)—l—...—i—nn(Xn)
ny+ng+...+n,

000000000000 000D0D000000D (grand mean) 00D O0O0O0O
obooboobobo

0000000000000 TOEICOOOOOODUOOooooooooooooo
0000 4400,0004700,000 4000000000000 0O0O00O0O0O0OO
0000 TOEICOODUOOOOODOOOU0OOU0OO0O0OOoO0oooooooooo
oooooo0o0o0oOoo 400000D00D00D00D0OD0ODODODOO
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00000000 TOEICOOODO0OUOOUOO0DODO0OUOUOOoOooooooooooo
oobooooboboooboobooooboooooboOobooOoboOoboboOoobboOoUoDboboOooon
ooboooobobooobooobooooobooboobooooOooboOooobooOooon
ooooooooboooooobocOoOoOoOoOoOoOoboOoOoOoOoObobOOOoOooOObOO
ogoooobooooooooooooooooooooooooooooooooo
ooobooooboboooboboooobobooooboooobooobooobboobbbooon
ooboooooboooobooooobooboooobooooboooooboo

oo

TOEIC O 00000440, 470, 41000 0000000000000 0 000 200
ogpolooo0o030000000000000000 TOEICOODOODOOOOO

(200 x 440 + 100 x 470 + 300 x 410)/(200 + 100 4+ 300) = 430 000430 00 O
OOROODOOOOOOO

p <- c(440,470,410)
n <- ¢(200,100,300)
gm <- sum(p*n)/sum(n)

print(gm)
gbobobobo

oood
4 )
ooboooooooooooooooooooooooooooooooobOoo

gooooooooooooooooooged
oo

20-39  40-59 60+
00000 (mmHg) 118 128 145
00000 (mmHg) 70 78 82
0o 13 12 16

‘00000000000000O000O000OO0O0OO0O0OO0OOO0OOODOOOOOODO
goooooO0o0O000000OOO0O0O00000OOO0OO0O0000O0O00OOOOO00O0
gooo0ooo0O0o0o000o0oO0oo0oO0OO0OO0O0000000o0oO0ooOO0oOb0O000O0o0oO0oO00000
go0oO0oo0o0oO0O0oO0o0OO0O0OOO0OO0O0OO0COO0OOOO0COOOOO0COOOOCOOOOO0
gooooooO0O0o0o0o0ooOoboOooOO0O000000oo

N J
00000000000 0(118x13+128x 124145 x 16)/(13+12+16) = 131 0
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00131 mmHg 0000000000000 00(70x 13478 12+82x 16)/(13+
124+16) =77 00077 mmHg 0000000 ROODODODOOOOOOOOOO
000

SBP <- c(118,128,145)

DBP <- ¢(70,78,82)

N <- ¢(13,12,16)

gSBP <- sum(SBP*N)/sum(N)

gDBP <- sum(DBP*N) /sum(N)

cat("SBPO O O=",gSBP,", DBP OO O=",gDBP,"\n")

ooooooooooo

423 0O0ODOOODOO

oobooooboooboooooooOoooboOooOooboOooooobooOoOoooooo
ooobooooboboooboboooobooooooOobooOoboOobooboOoobboOooDboboooon
oobooooboooobooboooboboOoooboOoooboOooooo

L EX1
> f
gooooooa
gooodoooooooooodoboooooooooooooouooooon
gfdododoooooooooodobooooooooooobooooooooog
0000000000000 000O000O000O00oOooooooO*o

S 00000000000000000000000000000000000000000000
goo0obooOo0oooOoooO0oO0bOOO0OO0bDO0OOOO0OO0DOOOO0OOOOOOO0ODOOOOOOO
ooooooooboOo0ooooo
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(I:II:II:I ~
goobobooooboooobooobobbOooboooobObbOobooooooo
ubooboboodoobooooboobobooooooOobOoObObOObOOoooDooo
vooboboooooooobooboboboooooobOboOobObbOobooooooo
oooooooooOoOoooOooboOoOoboOoOooboOoOoOoboOoOooOboOoon
ooooooooo 1wooooooooooooboo0s0000 80010
oooo0O1»oO0300000 0000000000000 O0O0DODOO
(5x804+10x15+30x5)/100=70000000000000000000
O0ooooooooooooooOOoCb0bOoOoOoOo 2300000000000
goboooboboooboobooooboobooooobooo

J
000000 (5x804 10 x 15430 x 542330)/101 =3000030 00000
00000000000000000000000000000000000000
00000000000000000000000000000000000000
00000000000000000000000000000000000000
00000000000000000000000000000
0000000000000000000000000000000000000
D0000000000000000000000000000000000000
00000000000000000000000000000000000000
000000000000000000000000

4.2.4 0000 medianO

otoooooooooooooOoOoooooooooooooooooooooo
oobobooooooooooooooooooOoOoooooboOoOooOooooOoon
gooooo0o0o0o0o0o0o0oooooUoooooooooooooooooooo
000000000000000000D0000D0000000000 (sorting) O
oomooooooooooooooooooOoooooOoooOoOoooooboooon
OMO0O0O0O0O0O0O0O0OUOOUdOdOd central tendency OOOOOOODOOOO

ooo
000000000000001, 4, 6,8, 40, 50, 58, 60, 620 ]

oooooooooooOoOoOooooooOoOoooooobooOoooooD 400
oooooooooooOoOooooooooOoooosoooooooboooboonon
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oogooOooooooOoOOOOOOOOOOOOOOOOOOOOOOOOOOO
0000000000 000000000000000000000000000
00000000000000000 rank sensitive 00000000 *0
ROOOODOOO0O0OOOOmedian() 0000000 DO0OOOO0DOOOOOOO
O000000Omedian(c(1, 4, 6, 8, 40, 50, 58, 60, 62)) 0000000
oo

000000000000000000002,4,7,9,12,15,170

RO

x <- ¢(2,4,7,9,12,15,17)
mean (x)

median(x)

oooooooooo 4300000 9ob00O0OOoooo
oo

000000000000000000002,4,7,9,12, 15, 17, 46, 540

00oooooooooooobooob 18400000 1200000000000
ooobooooboooboooooboooOoooobooOooOoobooOoobboooobooboooon
ooboooobobooobobooooboooOoooOobooOoboOobooOoOoobboOooobooboooon
oobooooooooo

ooboooobobooobboooobooooboooobooooboobooooobooOoon
ooooooooooooooooooooooo

ooo

000D0D00000000004, 6,9, 10, 11, 120

oooo090100000000000000000000O0G0O090 10000
00950000000000000000C0O0000OOO0O0O0OOOODOOOO
ooboooooboooobobooooboooooobooOooooobo0oobboooDbobboooD
ooobooooboooboboooobooooooobooOoboOoooOo0oobbOooobobooon

*“ 0000000000000 0000000000000000000000000000000
goooooooOoO0o0oooooOoOoO0oO0oO00O0oooOoO0oO0OO0OO0OO0oO0OooOooOO0O0O0O0O0O0b0oo0O0
go0oooooOobOo0OoO0obOoOObOOoO0OO0O0O0O0o0O0o0

S O0000000000000000000value sensitive 00000000
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ooooooooooooooooooooooooOOOObObobobob0 950000
oooooogs00oooooooooooooooooooooobooooooo
ooboooobobooobooobooooooobooooooOooboboooobooOooon
000000000000000000000 24000000000400000
ogoooobooooooooooooooooooooooooooooooooo
ooooooooooooo

ooo

000000000000007,7,7,8,8,8,9,9,10, 100

0od 10

000000000000007,7,7,8,8,8,8,8,9,9, 10, 100

00000000000te00000000000O0D0OOO00O00OOOOO
000000000000 1000000080800000000000O08000
0000000 O0SASOSPSSOO0DDOOO0ODDOO0OOOOOMS-Exceld ROO
000000000000O00O0OoOosfd0d00o0o0oooooooooo
ooooos

*0000000000000008000000Grimm (1993) 000000000000000
00000000000000000000000000000000000000000000
000000000000

000MO000000000000000000000000000000000000000
00000000000000000000000000000000000000000000
00oooo

00000111222333000000000000000000000000000000
0000000000000.67 1.00 1.33 1.67 2.00 2.33 2.67 3.00 3.33 0000000000
00000000000000 1/30000000000000000000 0.671.001.3300
0000000000000000000

00000000000000000000000 LODO0000 h00O0O0000000
fm0000000000000 FOOOODOOO0D000000F4+100,F4200, ..., F4+fm
00 00000000L+1/(2fm)*h, L+3/(2fm)*h, ..., L+(2fm-1)/(2fm)*h 00000000
F4+x000000L4(2x-1)/(2fm)*h 0000

go0ooo0oo0obOoO0O080b0O0O0O000O00O0O0O0C0OOOOD
oo oo oo

7.67 800 833

g0o0oo0oooDoOooo 8.170ooo

00000 1000000000000 6.67 7.00 7.33 7.60 7.80 8.00 8.20 8.40 8.75 9.25
9.7510.250 0000000000 8000 820000 810000MM1122330000000
0000000000000 00.751.251.752.252.753.2500000000000000 1.75
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obooboooobooboooooobOoobOOo0obobOOoOooOobOOooObOoOobobooooo
oobooooboboooboobooooboooooboOobooOoboOoboboOoobboOooboboOooo

ogbooogooooooooboooooboooobooooog
gooo 00 oOood

45-49 1 76
40-44 2 75
35-39 3 73
30-34 6 70
25-29 8 64
20-24 17 56
15-19 26 39
10-14 11 13
5-9 2 2
0-4 0 0

000000000000000000000000MOO0000 7600000
000000 (76+1)/2=38.50000*038.50000000000000000
15-1900000000000000000000000000 15-190000*0

500000000000000000000000000000000000
000000000000000000000000GrimmO0 15-1900 2600
000000D00000000000 0 14.5+5/52, 14.54+15/52, 14.5+25/52, ...,
14.54245/52, 14.54+255/520 00 000038500 00000000000000
00145+ (2454 255)/104 ~ 19.3000 19300000

0000000000000000000000000000000000000
0000000000000000000000000

N/2 - F

/7.,1}
fm

000ooo0o00L000000ooo0oooooooFO0OO0O0OOOOoOoOn

ooooooooof, 0000000000000 0AROUODODOOOO
ogboooobooobooon

L+

0225000020000

*7Grimm(1993)DD 760 20000 3800000000000000000000O0O0OODOO
0000000000 200000000000000000000000000O0C0O0 30009
go0oooooOooOo0O0C0O0O0 10000 2000000000000

2 000000000000000000
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1. 00000 NOODOOOOGN+1)/20000000000F+z = (N+1)/2
00000000 L+ (2z—1)/(2fm)+*h0000000

L+ (N+1-2F—1)/2fm)*h =L+ (N/2—F)/fm*h

0ooo
2. NOOODOOODOOO N/2000 N/24100000000F+2z = N/2
0F+z=N/2+1020000000 L+ (22z—-1)/(2fm)+*h00000

L+ (2(N/2—=F)—=1)h/(2fm)

L+ (2(N/2+1—-F)=1)h/(2fm)
ooooooooooo
L+ (N/2—=F)/fm*h

ooooooooo

425 0000 Model

obooooboobooooboooboobooobobooooboOoobObOOobobooooo
ooboooobobooobobooooboooOoooobooboobooOooboboooobooboooon
000000000000000000000000 (bimodal) 000O*0000
ogoooooooooooooooooooooooo

ooooobobooooooooooooooooooooooooooooooo
oooooobobooobobooooboobooooobooooboOooboOoobboobbbooo
ooobooooboooobooboooobooooooOoboooOoooOooboboooobooboooon
ooboooobobooobobooooboooOoooobooOoboOoooOoobboOooboobobooon
ooboooobooooboooo

00000(1)0000000000000D0O0O0O(2)ooooooooon
0000000000000 000000O0(3)00000DLO00D0D0DOOoO0DoOO
oooooooboboooboboooobooooooobooOobooobo0ooDbbooDbbboooD

“00000000000000000000000000000000000000000000
goo0obooOo0ooO0oo0ooO0o0COO0OOOO0OO0OOO0OO0DOOOO0OOOOOOO0OOOOO0OOO
oo0oo0o000b0O0O0000000O00O00O00000000DOO0
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goooo0O000oo0o()boo0oooooDo0ODo0o0ooooO()ooooooo
000000000000000*°000000000000000000000
ooboooobobooobooobooooooobooooooOooboboooobooOooon
oo0oooo0booooooo0o0oooooo0o0ooboo0ooooo0oooon
ooooooooboooooooodooooooooobooooooooooon
oobooooboboooboboooboboooooooooooo

0000000000000 D000 (geometric mean) 0 000 O (harmonic
mean) 0000000000000 00O0D0OODOOODOOODOODOOODOOOOO
oooooooooooooooOooOoOoObbOoO0omoOoOboboOooooboboOooon
ooobooooboooboboooobooooobooboobooboooobobooooboboOooon
ooooooooboooooooodooooooooobooooooooooon
ooboooooboboooo

4.3 0000 0 VariabilityO

oobooooboooboooooboooOoooboOoooboOooooobooOoOoooooo
000000000 410000000*Y0000000 000000000000
ooooooooooooooOobooobooooooOooODO 1booboooooo
00000000 400000000000000O0O00D0O0O0O0O0O0O0O0O0COO0
ooooooooOoOoooooooooooooooooooooooooo

0000000000000000 (variability) 00 0000000000000
oobooooooooooooooobooooobooooobooobomoooooon
oooboooobobooooo

*10 Qo000 0000000000000000000000000000000000000
00000000000000000000000000000000000000000000
00000000000 000000000000000000000000000000000
0000000000O000000

1l 0QpoO000000 ROODOOOOOOOO00

x <= ¢(1:1000)/100-5

z1 <- dnorm(x,0,1)

z2 <- dnorm(x,0,4)
plot(x,zl,type=’1’,1ty=1,ylab="probability density’,xlab=’’)
points(x,z2,type="1’,1ty=2)
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probability density
0.2
!

0.1

041: 0000000000000D0DOOODO

43.1 00O (range)

oobooooboooboooooooOoooboOooOoooOooooobooOoOoooooo
ooboooobbooobooobooboooo
od 11

00000000000000017, 23, 42, 44, 500

oooooooos0-17=3300000000000000000000000O
ooboooobobooobobooooboooOoooobooOoboOobooOoOoobboOoobooboooon
oooooobooooboooo
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oo 12

00000D00000000002,4,5,7, 340 ]

000 34-2=32000002,4,5,7000000000000000000
000034 000000000003200000000000000000000
goboobobobooooooOoooooooooooooooooooooooooo
goooooo0oooooooo

432 00000 (Inter-Quartile Range; IQR)

gbobobobobobobobooboobooboobooboooboobobooboon
0000000000000 00000000DOD00O0O000O00D 1/4,2/4,3/4
00000000000 (quartile)00001/40000000003/400000
O00000D0O0000O00 20000000000000000O00O0 OO0ODO
00000000Db0mM2/400000000000000000D00DODO0OO
goobooooooooooooo

gboboboboboboboboobooobooooboobooobooboboboon
gbobooboboobooboooboooooboobooboboboboboboOobobo
goooooooooooOoooooUooOooooooooooooooooooo
oooooo0oo0oOooooooooooooooooooooooooooooo
0000000000000 000 QL Q2,Q3UUUUUOoOoOooon

gboboobooboboobooboobooooooooooboooboboboboo
00 (quantile)y 000 000000000000O0000O0DOOO (percentile) 00
O00O0OC0O0O0O0OO00000O0 2000000000000 00 000000
gooboo

ocoobooooooooooooOooboOooboOoOoboOoOoOobOoOboOoooboOoo
OO0vWnooo00oooOo 200000000000 000000O00DDOO0ODO
00000ooO0o0ooOoos00000oDOo0O0O0bD0oDbO0o0oDOoOoboOoDoDOD
ooobogoooooooo

433 00000 (Semi Inter-Quartile Range; SIQR)

ooboooobbooobbooooboobooooboooobooooboOobooOoOooobooaoo
oooooo0oo0oOoOooOoooooooooooooooooooooooooo
0000000000000 0D00000000000o0o0oo0lIQRO SIQRO
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oobooooboboooboboooboooooboobooOoOoOoooOoobboOoOoDboboooon

od 13
4 A
00000000000000000D0 2800000000000050.5,

58.0, 47.5, 53.0, 54.5, 61.0, 56.5, 65.5, 56.0, 53.0, 54.0, 56.0, 51.0, 59.0, 44.0,
53.0, 62.5, 55.0, 64.5, 55.0, 67.0, 70.5, 46.5, 63.0, 51.0, 44.5, 57.5, 64.0010 O
00 kgD OOOODOOOOOOOODOOOODOOOOOOOOOOOODODOO
oooo

J

RO fivenum() 0000000 Q1=52.000Q2=55.500 Q3=61.7500 0000
0000000000 Q3—Q1L=97000000000000000 4.9750
0oo

434 D000 (mean deviation)

ogoobooboooooooooOoOoooOooooooooooooooooooo
oooooooboboooobobooooboboooooboooobooobooobbooobbooon
oobooooboooboboooobooooooobooOoboOoooOoOoobbOooobbooon
oooboooobooooboooooboooOoooobooOooOoobooOooboboooobooboooon
oobooobooooboooooboobooooboOoooboOoOoboboOoOoOboOoOoDo
oo 14

00 ADO11, 12,13, 14, 15, 16, 170000 BOOS5, 8, 11, 14, 17, 20, 2300
000000000000 40000000000 BO0O0ADOOOOD
00000000000 DO000 BOOOOO ADODOOOOOOOOOOD
0000000000000 0000000000000000000000

oooboooooboooooboooooboooooboobooooboooobooooOobooobooOooo
ooobooooboooboboooobooooooobooOoboOoooOo0oobbOooobobooon
oboboooboboobooboooooboOooOobooobOobOoOoOobOooooon
ooboooobooobooboooobooooooobooboOobooOoobboooobooboooon
ooboooobobooobooobooooooobooooooOooboboooobooOooon
ocooooooo

o0o0ooooooo MDOO
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O000000op0000O0ONODOOUODOUOO0OO0O0OOO0 14000000 AODCOO
0000 1.71000 BOOOOOO0O0O 5140000000000000ROOOO
ooboooobooooo

A <- c(11, 12, 13, 14, 15, 16, 17)
B <- c(5, 8, 11, 14, 17, 20, 23)
mA <- mean(A)

mB <- mean(B)

sum (abs (A-mA) ) /NROW (A)
sum(abs (B-mB) ) /NROW (B)

ogooooboooooooooooooooooooooooooooooooo
ooboooooboooobobooooboooooobooOooooobo0oobboooDbobboooD
ooboooobooobobooobobooooooboooooo

435 00O (variance)

oobooooboooboboooobooooboobooboOoooboOobOoOoOooboooo
oooooobooobobooooboboooooooboobooobooOoobobooooboboOooon

0oooooovoo ,
(X —p)
V= N

000000*20000 /0000000000 n—100000 000 (unbiased
variance) 0 00 000000000000 00000D000000OO00000
0000000 VOO

oooo

43.6 D000 (standard deviation)

ocoooooooooooooOoOoooooooooooooooooooooo
oooooo0oo0oOoOooOoooooooooooooooooooooooooo

“120p000000000000000000000000000000
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0000Mean+2SD*¥0 0000000 9% 00000000000000000
oobooooobod

oood
00 14000000000000000C0O000O0COOOGODOOO ]

O00ROODODDOOOOODADDOOOOO4670A0OOO0OOODO 2.160B
000000 420BO000O0O0O0O0O 648000000

A <- c(11, 12, 13, 14, 15, 16, 17)

B <- c(5, 8, 11, 14, 17, 20, 23)
cat("Ad0OO0O=",var(A)," / ADODODOOOO=",sd(A),"\n")
cat("BOOOOO=",var(B)," / BOOODOOOO=",sd(B),"\n")

43.7 D0O0OO (standard error) 00 OO0 (coefficient of variation)

ooboooboboooobooobooooooobobooobooobOobDbBoooo
0000000 VNOOOOOODOODOOOODODOOO0O0O0O000*400000
(standard error) 00000000 D0OSDO SEOODOODODDOODOOODOOOO
uboooboooboboobooobooboooboOobOobOobocbOobOOoboboOoobooOon
000 100000000000000000000D000000000OOOO0O%0O
goboooobooobobooooboooobooboobooooooboooobooOoon
goooooo0ooooooooooooooo
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oooooobooooboooooboooobooOooboOoooboobooOobooobooOoo
ooboooobobooobobooooboooooboobooOoboOoboboOoobboOooobooboooon
oobooooboboooboobooooboooooboOobooOoboOoboboOoobboOooboboOooo
gobooobbodoo+x0O0O0obOoooooobooooboboooDn

O000O0OO0OMS-Excel0 ROODOODODOOOOODDOOOOOODOOOOOOO

BO0000000 28D 000000000000 9750000000 1.959964...000000 2
0o0oo00 2000000000000

M4 Opooo00000000000 1I/NOODODODOOONDOOOOODOOODOODOO0000000
oo0o0o000b0O0O000000000
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ooboooooooooooon

oooooooo EXCELO0OO0OODO0OO0OOO

000 Al:Y1O0O0OOODOOOOOOOO

ROOODOOOOO
Ox <- c¢(...) 000000000 xOOODOOOOOOO
oo

ooo 0000000=MODE(A1:Y1) 000000000
goooooOoO0oO0O000O0O0O0O0O0O0O0O0O0O0O0O0O0O0O0
gooooOOOOOOOOOOOOOOOOOOOOOO

oooo
ooo =MEDIAN(A1:Y1)
ooo —AVERAGE(A1:Y1)

00000=HARMEAN(AL:Y1)0O OO OO
=GEOMEAN(A1:Y1) 0000000

oo —MAX(A1:Y1)—MIN(A1:Y1)

ooooo —QUARTILE(A1:Y1,3)
TILE(A1:Y1,1)

ooooo =(QUARTILE(A1:Y1,3)
TILE(A1:Y1,1))/2

oooo —AVEDEV(A1:Y1)

gooo =VAR(A1:Y1)
000000000=VARP(A1:Y1)0OOOOO

oooooo —=STDEV(A1:Y1)
00000000000=STDEVP(AL:Y1) 000D
oo

gooooooooooo gooooooooooog

ooooo

gooooooooooog gooooooooooog

gooooo

gooooo gooooooooo

gooooooo goooooooooo

FCEEEEEEEEEEE 3] oog
0oooDOooOoO0DOoOoO0OO0O0O o ooo
hist (x,c(min(x),5,8,max(x))) 0000000x 00O
0000 5000500 8000800 x000000
000000000000000000000000000
hist(x,5) 1000000000000000000000
000000000000000000000000000
ooo

00 Ohist(x,plot=F) 0000000000000000
0oooDooooo

median (x)

000x 000 NADOODOOOOOOOO0O
median(x,na.rm=T) 000

oo oo
oo oo

median(x[!is.na(x)])

noooooooo
mean (x)

00000 1/mean(1/x)0000 00 exp(mean(log(x)))
0oDoooo

max (x)-min Gx)

1RG0 0000y <- quantile(); y[4] - y[2] 00
00 fivenun(x) [4] - fivenum(x)[2) 00000
I0R(0/2 00 00y < quantile(x); (y(4] - y[21)/2
0000 (fivenun(x) [4] - fivenm(x) [21)/200000
000000000000 sun(abs (x-mean (x))) /NROW(x)
Dooooo

var(xy 000000000 00000000000
sum((x-mean(x))"2)/NROW(x) OO OOO0O

sdx 0 0D 0 0 0 0 0 0 000
sqrt (sun((x-mean(x))"2)/NROW(x)) 0 0 0 0 0 0O
()
0DoDODO0O00DO0DO0O0O0O00D0O0O00
x < read.delim("d:/sample.dat” ,header=T)
poooo (*%)g

000000000000 x$age 000000000
DODO0O000D00O00000000000000
DOx <- read.delin("d:/sample.dat" ,header=F) O
000000000000 x$V1, x$V2, ... 000000
0000000 x$00000000000attach(x) 00
D0 Vi0O V2000000000
DODO0DO0O00DO0DO0O0000D0000
x < read.csv("d:/sample.dat" ,header=T) o
oo (**)pNDOD00000000000000000
D 0x <- read.csv('d:/sample.dat" ,header=F) [0
oo

de(x$V1,x$v5) 00000000000000000000
0DDDDDONOONONN0NN0000000000N00D
oooo

0000000000000 0 x o
000000 sampledat 0000 0
write.table(x,"d:/sample.dat", sep=",") 0 0O
000000000 sep="\t"0000000

ooo
ooao

() 0000000000000000000Vx<-sum((x-mean(x))~2)/NROW(x) 000000000000000sqrt(Vx) 00000000000000

(x%) \0/00000000000000000000000000000000000000000000000000000000000000000

00000000000000000000000 000 Windows2000 00000000000000000O0O0O00OOOO0O0OC:/Documents and

Settings/nakazawa/My Documents/00000000000000000000000D:00000000000000COOOO0OOOO0OOOOOOOOO
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51 O0O00O0ODOOOOOO

ogoobooooboooobooooboooobobooboobooooboobooOoboooboooo
ooboooobobooobobooooboooooboobooOoboOoboboOoobboOooobooboooon
oobooooboboooboobooooboooooboOobooOoboOoboboOoobboOooboboOooo
ooobooboooboooboooboboboooboobooobOooboobOooboOooDoOoon
ooooooooooooooo

ogoooobboooooooooooooooooooooooooooooooo
oooooooooooOoOoooooooOoOooooooboooOoo 2000000
oobooooooooomoooooooooooboooobooooooOoooooo
ooboooobobooobobooooboooOoooobooOoboOobooOoOoobboOoobooboooon
oooboooobobooobobooooboooooboOobooboOoooOooboboOooboboOooon
oooooobooobobooooboboooooooboobooobooOoobobooooboboOooon
ogoooobooooooooooooooooooooooooooooooooo
0000000000000 0000D0000OD0O Capture-Mark-Recapture 00
oooooobooooboooo

oood

0000000000000 40000000000 2000000000000
000020000 180000000000000000O0C0OO00O0OO00

0000000 x0000040/(404x)=2/(2418) 000000000 xO000
00000x=36000000000000 36000000000
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Sample probability distribution by population proportion

sample probability

0.0 0.1 0.2 0.3 0.4 05

051: 00000 p0O0O00O0D02000000000D0000O000OD0O 2000000

52 O0O0O0ODOODOOO

ooboooooboooooboooobooooobooboooooboooobooobooOoooooOoo
O0ooooooooooooo0OpOOODOOOO 2000000000000000
000000 20000000000000000000000*0

000000 pO0O0ODO 2000200000000 180000 (1-p)ooOOO
00000000000000000000000200000 2000000000

1000000000 000000000000000000000000000000010000
00o00o0oooooooCMROODOOOOOOOOODOOOODOOOODOOODOOOO
go0oo0o0o0o0bDO0O0000O00D00000000000
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O00000000000000000000 9C,00000uooooooog
000*000000000000005.10000 p=0100000%*0
400000000 0.100000000040/0.1=4000 00 00 O 0400-40=360
O000000000000000000000000000000O0p=0.09000
Op=01100000000000000000000O00CO000O000OO0OGCOO
600000000000404000 3240000000000000000000

53 0O0O0OO

gooooooooboobobooooobbooooobobboooooooo
gooobboooooobboboooooboooobobbooobbbooo
(http://www.videor.co.jp/index.html) D DOOONHK OOOOOOOOOOOO
000020010 100800000000000229%000000000000
gooooe000OOOOI3r000O0O0OOOoOOOOOOOOOOOOOOOOn
00000000000000000000000009%%00000000000
goboboboboboboobg
goobooboooooobooboboobooboboboooboobobobao
0000000000 D0D0DO0DO0D0OD0DO0ODOOD 137/600 000000
0O BroU00U0QooU0ooQO0ooOooDoD 46300000000 DDODO0O
choose(600,137)*(137/600) ~137%(463/600)°463 0 00O O O O 3.9%0 O
oogo

000000000000 10%00000 1370000000000000
2.56%10°(-20) 00 0U0DU0OOUOODOODOOO137/600 0000000000
000000oopooooOo0o0 W@¥roooooooooooooooooooog
000000000000009%%00000000 137000000000000
0000000000000 mY%00000ooon
95%0000000000000 25%00000 25%000000000000

*2 R 00 choose(20,2)*p~2*(1-p)~18 0 0 00 dbinom(2,20,p) 000000
00000000 ROODODODOOOOOOO

p <- c(1:50)/100

prob <- dbinom(2,20,p)

plot(p,prob,col="blue",type="1",main="Sample probability distribution by population proportion",
ylab="sample probability")
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ROOO

z<-0; k<-0; while (2<0.025) {k <- k+1; z <- z+zz[k]}; print(k)
00000 25%000000

z<-0; k<-600; while (z<0.025) {k <- k-1; z <- z+zz[k]}; print(k)

00000 25%0000000000
0000006000000 229%00000000000000000000
000000 9%%00000019.8%00 26.5%0000000

54 ODO0OO0OO0OODDOOOOODOOO

000000r,000000000000000D000ODDOODOODOOOOO
00 p00000000000»00000000000000000000000
MO00000000000000 X000000p =X/,00000X00000
0000 Nnp,np(1—p))00000000000000 95%000000000
+0000x 1.9600000000

Prob[—1.96 < (X — np)/+/np(1 — p) < 1.96] = 0.95

0000000000 CProblp'—1.96y/p' (1 —p/)/n < p < p'+1.961/p'(1 — p/)/n] =
005000000000 pO 9% 000 (p — 1.96/p(1—p)/np +
1.961/p'(1—p/)/n)00000000000000000000 p0 95%0000
oooo

oooo

gooooooooooooooooooboobooobooobooooOoobooboon
300000000007 000000000000000000000000
95% 000000000

000000000000 75/300=0250000 25%00009%0000
0000000 R OO0 DO75/300-2%sqrt (75/300%225/300/300)00 0 O
75/300+2*xsqrt (75/300%225/300/300) 00000 09%%00000 [20%, 30%]
00000000000000000000000000000000000000
00000000000000000000000000000000000000
000000000000000000000000000
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— DEFRD
+{ | mFEIEH
0.68 BEHE1OHAZF
w4 | pchisq(l,1) R OHEREERIL
x<-c(1:1000) /250

y<-dchisq(x,1)
plot(x,y.type="'s"')
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00000000000000000000050% 0000000000000
oooboooobooooboooooboooOoooOoboooOoooOoobboOooobooboooon
ooobooooboooboobooooboooooboOobooOoboOoboboOoobboOooDboboOooon
ooobooooboooboboooboooooboOoboobooooOoobbooobooboOooon
0000000000000 00DO0000D0OD S%00000000000000
goooooo0oO0oOoO0OO000oOoOoOoOoOooooOooooooooooooo

000000000 »000000:0000000000000 O,000000
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E;000000x2=3(0; - E)?/E;0*0000n-100000000000
00000000000000000000000000000000000000
E;0100000000000000000000000 2000000000
00000000000000000000000000000000000000
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cat ("Kappa=",kappa," (p=",pkappa,")\n")



82 Ov0 0O00000000000000

00000000* 000 x000000x00000000x00000000
ooboooobooooo

74 00O

0000000000000 000000 crosstab) 0O0DOOROOOODO
ooooooooooboooooOooboOooboOoOooOoOooOoboOobOboOoOoooOoo
ooo

#
# Defining a function to combine several calculation for the indices of relationship.
# developed by Minato Nakazawa on 16th November 2001.

crosstab <- function(X) {

if (length(X)>4) stop("Given data cannot constitute 2x2 cross table")
cat(rep("=",35),"\n The results may include inappropriate statistics for given table\n
(e.g. Risk Ratio can stand only for cohort study). Take care.\n",rep("=",35),"\n")
a<-X[1,1]; b<-X[1,2]; c<-X[2,1]; d<-X[2,2

mi<-a+b; m2<-c+d; N<-m1+m2; ni<-a+c; n2<-b+d

# risk ratio

RR<-(a*m2)/ (c*m1)

RRL<-RR*exp (-qnorm(0.975) *sqrt (1/a-1/m1+1/c-1/m2))
RRU<-RR*exp(qnorm(0.975) *sqrt (1/a-1/m1+1/c-1/m2))

cat("Risk Ratio=",RR,"\t 95%CI=[",RRL,",",RRU,"]\n")

# odds ratio

OR<- (a*d)/ (bxc)

ORL<-OR*exp(-gnorm(0.975) *sqrt (1/a+1/b+1/c+1/d))

ORU<-OR*exp (qnorm(0.975) *sqrt (1/a+1/b+1/c+1/d))

cat("0dds Ratio=",OR,"\t 95%CI=[",0RL,",",0RU,"]\n")

# risk difference

cat("Risk Difference=",RD<-a/mi-c/m2,"\n")

# relative difference

cat("Relative Difference=",RelD<-(a/mi-c/m2)/(1-c/m2),"\n")
#"0oooo"

cat ("AFe=",AFe<- (a/mi-c/m2)/(a/m1),"\n")

# "0ooooog”

cat ("AFp=",AFp<-(n1/N-c/m2)/(a1/N),"\n")

# Yule’s Q

cat("Yule’s Q=",Q<-(OR-1)/(0R+1),"\n")

#'ooooo

cat("phi coefficient=",rho<-sqrt((a/mi-c/m2)*(a/n1-b/m2)),"\n")

# kappa

Pe<-(n1*m1/N+n2/N*m2) /N

Po<-(a+d) /N

kappa<-(Po-Pe)/ (1-Pe)

SEkappa<-sqrt (Po* (1-Po)/ (N*(1-Pe)~2))
kappaL.<-kappa-qnorm(0.975) *SEkappa

kappaU<-kappa+qnorm(0.975) *SEkappa

SEkappazero<-sqrt (Pe/ (N*(1-Pe)))

pkappa<-1-pnorm (kappa/SEkappazero)

cat("Kappa=",kappa," (p=",pkappa,")\t 95/CI=[", kappaL,"," ,kappal,"]\n")
b3

*15pnormDDDDDDDDDDDDD ROODOO0OOO0OO0OO0O0ODO0ODOO0OOO0OOO0 ROODOODOOO
ooo

Pe<-(n1*m1/N+n2/N+m2) /N

Po<-(a+d) /N

kappa<-(Po-Pe)/(1-Pe)

SEkappa<-sqrt (Po*(1-Po)/ (N*(1-Pe)"2))
kappalL<-kappa-qnorm(0.975) *SEkappa
kappaU<-kappa+qnorm(0.975) *SEkappa
cat (95%CI=[",kappaL,"," ,kappaU,"]\n")
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data(infert)
fewchild<-(infert$parity<=2)
noabort<-(infert$spontaneou:
Y<-table(fewchild,noabort)
print (Y)

# output of table(fewchild,noabort)
#

--0)

noabort
fewchild FALSE TRUE
FALSE 43 25
TRUE 64 116

i.e.

#
#
#
#
#
#
# abort

# morechild TRUE FALSE

# TRUE 43 25

#  FALSE 64 116

# Chi-square test

print(chisq.test(Y))

# Fisher’s exact test (where odds ratio is conditional MLE:
print(fisher.test(Y))

crosstab(Y)
# same as crosstab(matrix(c(43,64,25,116),nc=2))
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jo0o0o0oo0ooO0oO0OO000000O0OCOOO0O00000OOO0OOCOO0OOO0ODOOOOOROOO
Wilcoxon 00 0000000000000 DO0OO0O0DOOOODOOOODOOOOOOOO RS
0000000000 2x(1-pwilcox(RS,m,n)) 000000000 OOOOOODOOODO

*5 R 00 choose(N,m)O

“gpoDoOoDO0O000D0O0O0D0DDOOO0OO0DODODDODO0 ROOOODO
wilcox.test(X,Y,exact=T) 00000000000 OOO S0 000000000000
0000000oo000oo0o0o0oo0ooo0ooooo 0000000000000 000DOO
goo0ooo0ooo00ooO0o0oDOo0OOoU0DO0ODO0ODOU0OO0ODO0ODOODDOODOODO
goooooooooOoooooOoooooO0ooooooobooooooDo
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0100 NOOODODOOO 1/NDODOOomooooooooooo

var(R) = E(R?) — (E(R)?)

00O
E(R?) = E(()_Ri)*) =Y E(R})+2)  E(R:R;)
i=1 i=1 i<j
0oooo* 0
E(R?)=(1+22+..+ N?)/N=(N+1)(2N +1)/6
0
1 N ) N
B = =y (00 - 28
_ 1 N2(N+1)2 N(N+1)(2N +1)
_Nmen( 4 B 6 )
_ (N+1)(3N +2)
B 12
0000000000000 Ovar(Rx) =m(N+1)(N —m)/12 = mn(N +
1)/120000

9. 000000000002 = {|Rx — E(Rx)| — 1/2}/y/var(Rx) OO
O00OmO2000000000000000000000000000
20>1960000000000000 5%0000000R0O0O0O0OO00
00000z% 0 z0000002%(1-pnorm(z0,0,1) 0000000

10.0000000000000000000 2)0000000000000
000000000000000000000 X0 {2,6,3,5}000 YO
{4,7,3,1}00000000000X00 Y00 300000000000

*00D000000000000000000000m=2000000000000000

E:R E((R1 + R2)?) = B(R% + R2 + 2R Ro) = E:Ew2+2§:ERR)
=1 1<J
oood
* 0Q00000000000000000D00000000000000000
' 000000000000000000000000 1/2000000000
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Oo0oooooooooooooooooooooooooooooooono
ooooo Y X X Y Y X X Y
oooo g 1 2 3 3 4 5 6 7
oo 1 2 35 35 5 6 7 8
11. 000000000000000000000D000D000D*%00000

O0DO0D0E(Rx)=m(N+1)/2000008)000000000

var(Rx) =mn(N +1)/12 — mn/{12N(N — 1)} -

T
(d} —dy)

=1

0o0oooooTOoOOO0OODOOODODOODDODOO0O0OO0OD0OO0OO0d;, 0 t00000

00000000000 0oD0doDO0O0DOoUOooDOooDoOoOoT =10

di=20000000000000000000000000O00O0O0O00O0

ddoboooobOodoobooobobOooobOoOoOooboboooooooo

0000 Cochran-Armitage 0000000000

*10

gooooooO0oO0o0ooO0oo00oon
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gobooooooooooboooooboooooboooboooobooooooobooo
ooooooooooooboooOoooossbbooboboooooooooon
ooooo2210000020250000000000000¢:000000A0
oooooooooooooooooooooboOoOboOoboOoOboOobobobobboo
0000000000000 0000000000000000 Wilcoxon 00O
goboooobooooooooooo

Distribution of 2025 TFR prediction by optimists

Frequency

L1 =

T T T 1
1.0 12 14 16 18 2.0 22

0 10 20

Frequency
0 20 40 60

N J
0000000000000000ROOOO0OO00O00O00O00O0O000000O0

booooobdobooboooboobooboooooobOobooOobOooOond opt

OOoOoOoOO0OO0OOOOoO0oOo0oOooOoOoOoOoO pesooogd

d <- data.frame(gr=c(rep(1,NROW(opt)) ,rep(2,NROW(pes)) ,val=c(opt,pes))

0o0oo0o0oboddoo0foooDooboDoboooDooooooooDoooad
rank() 00O 0O 0O Ornk <- rank(d$val) OO OO0 O DODOOOOCOOOO
000000 0Odd <- data.frame(d,rk=rnk) 0O 0 0O O Oopt O O O O
000 sum(dd$rk[dd$gr==1]1) OO0 O O O O O 0Opes 0O O ODOOO
sum(dd$rk[dd$gr==2]) D0 U0 U0opt 0 pes00O0O0ODODODO

(opt) 165.5 165.5 245.5 218.0 165.5 277.0 131.0 ...0000
(pes) 141.0 83.0 17.5 103.0 131.0 218.0 241.0 ...0000O
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O00000000000011157027903 000*1! 00000 Rype = 1115700
O000O0OODOopt 000 pes 0000000000000 OOOOOopt<pesd
0000000000000 00000000000000000000000
0000000000000000000000000R,: 3000 E(Ryp) 00
E(Ropt)=58 * (58 +221 +1)/2 =8120 000000 V(Rop) OO V(Rppt)=58 *
221 % (58 + 221 +1)/12 =299086.7 000000

Ropt - E(Ropt) - 1/2
V(ROPt)

= 5.552323

000 1-pnorm(5.552323,0,1)=14 x 108 0000000000000000
O000D0000000O0o0pt0 pesO0000O0O000O0O000OROOOOOOO
0000000 wilcox.test(opt,pes,alternative="greater",exact=F) 00
O0p=1248x10"800000000000000000000000000O00
00000o0o000oo00ooOo0o0ooOo0ooOo0obOoOOooDoooooooOo
oooo

good
4 A
oooooboooooboooooboooooooooobooooooobooon

(mg/L) 0000000 (A) OO {0.3346, 0.6230, 0.8580, 1.1031, 0.4580,
0.6210, 0.9071, 0.4760, 0.5020, 0.9670, 0.7100, 0.1350, 1.1390, 0.5741, 0.9090,
1.0400, 0.4190, 0.6296, 1.1080, 0.5793, 1.0420, 1.2826, 1.8280, 0.1630} 0 0O
0000 (B) OO {0.8583, 0.9320, 0.4220, 0.3570, 0.0641, 0.5338, 0.8280,
1.1400, 0.7229, 0.0000} 00 0000000000000 000000000
00000MO000000000000000000000000Wilcoxon
0000000000000

(A)

o 0.3346 0.6230 0.8580 1.1031 0.4580 0.6210 0.9071 0.4760 0.5020 0.9670
oo 5 16 21 29 9 15 23 10 11 26
u] 0.7100 0.1350 1.1390 0.5741 0.9090 1.0400 0.4190 0.6296 1.1080 0.5793
oo 18 3 31 13 24 27 7 17 30 14
n) 1.0420 1.2826 1.8280 0.1630

oo 28 33 34 4

(B)

u] 0.8583 0.9320 0.4220 0.3570 0.0641 0.5338 0.8280 1.1400 0.7229 0.0000
oo 22 25 8 6 2 12 20 32 19 1

0000000000000 0000000D000ORO wilcox.test() OODO

110 0 O O Od<-cbind(c(rep(1,NROW(opt)),rep(2,NROW(pes))),c(opt,pes)) O O
x<-rank(d[,2]) 00000 Ox[d[,1]==1]1 OO0 opt 000D O Ox[d[,1]==2] OO
Opes00000000O0DDOODODO
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000000000000000 p=0.2908600000000 p=0.30400000
D0000(A)O (B)DDOOOD 5% 000000000000000%*20
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Wilcoxon 00000000 R, 0000000000000000O0000O0
0000000000000000000000 s(R,)0000000000000
0000000000000000000000000

0000000000 Zaw < Zeny <. < Znn 000000000000
0O NODOOOOOOOOOOO

4&J:E@mm)1¢4<Nil>

ooboooboooooooboooboboobobooooooooobooooOodgn
ocoooooooooo
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s(R)D0D0i>[(N+1)/2/000 10i<[(N+1)/2]000 00000000
000000000000000000000000000

mO00000000 X02,000000000YOO0OO0 N=m+4n00
00000000000000000000000000000000000000
000x 0000000000000

“120p0000000000000000000000000000000000000000000
gooooooO0o0o0o0oooOoOmOoOoOooooooOoO0oOo0oOooooooOoOo0o0oOo0OoBoooon
0000000000000 D000000MO0ODD0D00 5% 000000M0000000000
00000 5% 000000000000000000000000000000000000O0
000000000000 Ms%00000000000000000000000ODO0OOO0
000000000000000000000000000000000O0O0O0O0O0OOOCOO0O0
00000000000000000000 5% 0000000000000000000000
0000000000000000000000O00O0O00O0OO0O0OOOOOOOO0O0000O0
0000000 5% 00000M000000000000000000O00O000000D0DO
0000000000000 D0DOO0000D00D00000000 3% 000000000000
oo0boo00o0b0O0O000000000O00O00000000DOO0
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X Y 0o
0000000 H  (m+n/2)—H (m+n)/2
0000000000 m-H H4m-m)/2 (m+n)/2

oad m n m+n

00000000 HO m/2000000000000000000Pr(H =
W) =1 Cht n Clman)j2—nt fminCmany2 00O PHH >R)0000000000
00000000000000000000

05 ODOOOOOODOO

0000000000000000000000000000000000000
000000000000000000000000000000+¢0000000
000000000000

00 XO0000i000i0100-000000000000 z; =e+6;000
000000 e 000006, 0000000000000 X0Y0O0O0O0O00O00O
00000000000 X-YOOO XO0YOOOOOOOOOOoo0oo0o0ooo
0000U;=a;—y; =e;—e; D000000000000000e; 0 e 0000
000000000000;00000000000000000000000; 000
000000000000 R,000000000¢; =1(U; > 0),e; = —1(U; < 0)
000000000000 Pr(e;=1)=Pr(e;=-1)=1/20000000

n
R* = Z 8,‘Ri
i=1

O000O0OR*000000O0DOO0OOOOOO

0000000e 00000000 200000002"0000000000
0000000000000 *¥0,0000000000000000n>1500
000o0oo0o00o0o0O000o0o0o00oR 00000

E(R*) = iRZE(si) = iRi(l X 1/2+4 (=1) x 1/2) =0
i=1 =1

*BO000000000000R. A. Fisher 0000000000000 (permutation test) 00
ooooooooooo
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ooad
var(R*) ZR var(e;)

:ﬁi&2zx1ﬂ+w—U2XU%

55&2 nin+1)(2n+1)/6
i=1

ooboooooooooooooobooooo
|R*| —1/2
var(R*)

000000000000 Db000b0000O0bO000ORODODOODDODDODOOODOOO
00000 XO0OYOOOOOOODOwilcox.test(X,Y,paired=TRUE) 0O OO0
ogooooooad
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00000000000 00OO0O0O00O0000OR, 00000000000 0O0OO
0000000 s(R;)0D000D000D0000D00D0O0OD0O0OD 1<4,7<n00
O0O0OR; <R;000 s(R;)) <s(R;)0000000O0O0ODODO

00000000000000000D+«0000 s(R;))=100000000
ooo

n
= E g
i=1

000000000 U;=24;,—% 000000000000000 KOOOOOO
0000000D00000000002K -»n000000000KDOOODOOO
0O0oo00O0o0o0oo0

00000000 KOOOOOOOOXOYDODOOOO0O0O0 U; 000000
00000000 1/20000000,0000000000000000000
0000000 2000000 p(¢)0000000000p(x) =, Cy-(1/2)*
(1/2)"* =, C, - (1/2)" 0000
000000KOD00D000000000000K >2/2000000

QXZ )OO00o0o0O0O0O0o0oooo0O00oOoooobOOoOoOoooooooooo
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n
X>YOOODODOO0O0OO0O0OO000000 Y pz)0000
=K
00000r,0000000000D00000D000000D00000ROOOO

oboooobobooobooobooboooobooooboobooooboooon
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00000 R. A Fishee 0000000000000 D0O0O0OD0OODODOOOOO
gboboooooooooooooooooooboobo0obOobobobOobOoDbo
gbobobooboobooobooooooobooboobooboobo

00000o0ooooo0o0oooooo0oooDoooooUooooooog R
000000000000 RFOODDODO0OOOUU00ODODOOOOUOOOD MOOO
000M/2"000000000R*000D0O0ODODODOODODOOODOODO
gooooooooobooooooooood

R OOOCRAN OO install.packages("exactRankTests") 0000000
O0000000D000D0OLlibrary(exactRankTests) 00 O 00O perm.test() O
oboobooooooooooooooo
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10,1 OD0OOOOOODOOO

t0000000000 20000000000003000000000000
ooooooo
ooo2000000000000000000000C00G0OnODOO 20000
gooooooo ,C, 0000001000000 100000 5% 00000000
00300000000000000000 100000000000000O00O00
000000100000 5%00000000000000000000
000o0o000ooooooooo 2000000000001 00000000
oooooooboooobooboooobooooooboobooOoboOoooboOoobboooobobobooo
ooboooobobooobobooooboooooboobooOoboOoboboOoobboOooobooboooon
oobooooboobooobobooooboooOoooOobooboOoooOoobboooobooboooon
ooboooobobooobooobooooooobooooooOooboboooobooOooon
goooooooooooOoooooUoOoOooooooooooooooooooo
0000000000000 0000000D0 (Kruskal-Wallis) DODDOOOOO
goboooobboooboboooboboooo
00100000000000005%0 200000000000000000
goooooooooooooo 1oboooOoO0OO0OO0OO0O0OO0OO0OO0OOOOOOOOOOO
00000000 5%0000000000000000000000000D000O0
oooooobooobobooooboboooooooboobooobooOoobobooooboboOooon
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oobooooboboooboboooboooooboobooOoOoOoooOoobboOoOoDboboooon
ogo
goboooobooobbooobobooooboOoooboOooooobooOoOoOoobooOoo
000000000*00000000000000000000 (Kruskal-Wallis)
ogoooobooooooooooooooooooooooooooooooooo
oooooobobooobobooooboboooooboooboobooobooobboobbbooo
0000 post hoce 00O OOOODOOOOOOOODOODOOOOODODOOODOO
ooboooobobooobobooooboooOoooobooOoboOobooOoOoobboOoobooboooon
oooboooobobooobobooooboooooboOobooboOoooOooboboOooboboOooon
coooooooooOoOO0OOOOULUUOOOOOoOoooooooOoOoOoOo @
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bgooooboooooooooooooooooooooooooooooooo
ooobooooboooboboooobooooooobooOoboOoooOo0oobbOooobobooon
oboooboobooooooooobOoOooOobOOoOooOoobooooooobooooon
ooobooooboboooboboooobooooooOobooboOoboboOoobboOooDboboooon
obooooboobooobooboooobooboooobooooobooo

oooooOooooOo0OO00 X, Y, Z000000000000000000A0

ogooogopoooopoooooooooogoooooooooooooobooom
IDOO OO0 (vg) OO (cm)(height)

1 X 161.5
2 X 167.0
oooo
22 Z 166.0
oooo
37 Y 155.5

ooooooooooooooo101b0boboboboob

“lopooooooo (1997) 0000000000000 000000D0D0O0ODODOO0000D0DO
000000000000000000000000000000O0O0O0OO0O0OO0OOO0O0O0O0
goooooOoooOoO0oo0o0CbOO0OO0OO0OO0OO0OO0DOOOO0DOOOOOOODOOOOOOO
0000000000000000000000000000O0O0O0O0O0O0OO0OOOOOO0OO0
gooooooooooooO0oO0o0oooooboOoOo0oOooooOoOo0o0oooooOo0oooooooon
goo0obooOo0oooOoOooO0o0COOO0OO0OO0OOOO0OO0DOOO0OO0DOOOOOOO0ODOOOOOOO
go0oo0o0o0b0O0O000000000O00O00000O000C0O0O0O0O0OO00OO0DOO00000
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Distribution of heights for 3 villages

175
|

170
|

165
|

Height (cm)

160
|

155
|

-

T T T
X Y z

Village

0101: 00000000000 0O000GBO00OO

oobooooooboobooobOoboo0oobOobOoObOUheight 0O OOOO
ooobobOoOvgOOOOOOOODOOOOOOOOOOODOOOOOOOOOOO
O0000OROOODOOO0OO0DOO0OOD O summary(aov(height ~ vg)) DO0OO
000 anova(lm(height ~ vg)) 0000 MMOOOO0O0OOOOOOOOOOOO

Df Sum Sq Mean Sq F value Pr(>F)
vg 2 422.72 211.36 5.7777 0.006918 x*x*
Residuals 34 1243.80 36.58

Signif. codes: O ‘**x’ 0.001 ‘*x’ 0.01 ‘x> 0.056 ‘.’ 0.1 ¢ * 1

oboobooooobo0obooobOobOooboOo0obDO«xobOO0oOoboobOooOoobooobo
oboooooobooboboooboOobobOOswm SqOOO0OOOOOODOOODO
OO0vgO Sum Sq 00 422.72000000000000000000000000
oboboooooobooboooobobooooboobooboooboobOobooOobodvgdn
0000000000000 0OResiduals 0 Sum Sq 00 1243.800000000
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00000000000000000000000000000000000000
0000000000000 0000000000000000000000000
O00OMean Sq 0000000000000 0O00OOOO (pF)0D00OOO0
0000000000000 0OvgO Mean SqO 0 211,36 0000000000
000000000000 OResiduals 0 Mean Sq 00 36.58 000000000
O000O000F value0OOO0OODO00O0O00O0O00O0DOO0O0O00ODOO0O0OOO
0000000000 10002002000 340 FOOOOOOOOOOOO
00000000000000000000000000000000000000
OPr(>F) 0000D0O00OO0DOOOODOO 0.0069180000vg0000 5%0
0000000000000 0000000000000000000000000
oooooon

000000000000 000000000X00 NV;00000 X1, Xio,
e Xip,OY OO N, OODOO0O Xog, Xog, ooy Xon, 0Z00 N3OODOODO Xay,
X390, .., X3y, 00000000 Ny +No+N3=NOOODOMOODOODOOODO
X, X,, X;0000000000 X,0OOOOOOOOOOOOOOOODODOO
0oo0Sy00

0000000000000 0000000000000000Sg00

3 N;
Sp =Y (Xi - X;)?

i=1j=1
000*00000000000000 P4=3-1=200000000000
Pr=N-3=34000000000000 Vq=584/PA00000 Vg =Sg/Pg
00D000O0FO0OD Fy=V,/Vp00OOOOOD PLO0OOODOO PepO FOO
00000000000000%00000000000000000000000
00000 Sy000000000000D0000D0D0O0000DO0O0 S,0000

*20Qp0000000000000 Sr=S84+S00000000000000000
*3RO00p=1—pf(Fy,Ps,Pr) 0000000000000
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000000000000000000000 Sg000000000000000
oooo

0000000000000 000000000000000000P,40 20Pg
0 340N O 370054 0 422.720 S O 1243.800 V4 O 211.360 Vg O 36.580 Fp O
5.77770p 0 0.006918 000 O

00000000000000000000000000000000000000
O (ONE-WAY ANOVA) DO OODOOOO0O0O00000 (TWO-WAY ANOVA)O
000000000000 (THREE-WAY ANOVA)ODOOOOOOODOOOO
0000000000000 0000000000000000D00D00000O0
0000000000000 00000O00O00O00OO0oO0DnO0DooDooooo
00000000000 00000000000000000oo0oooooooo
(ANACOVA)ODOOooooo?
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oobooooboooboooooooOoooboOooOooboOooooobooOoOoooooo
oboboooooooboobooboooboobooobboobOobOoOoOobOoobooon
000000000000000*0000000000000000000000
0000000000000 000000000 (Kruskal-Wallis)0ODOOOOO
O000O0O0OO0OROODkruskal.test(DOO0O -~ 00000)O00000DO00OO
oooooobooboobooooDo

ed00000O0O0OOOOOOOOOOOOOOOOOOOOOOOOOO0O0
ooooo0o00o0oOo0ooOooooooooOoooooooo

e J00OOOODOOOODOOOOOOOUOOOOODOOODODOODDOODO
goboooobooooboooboobooooooboooooboooobooooO

00000000 12000 130000000

S 0000000000000000000000000000000 (Bartlett) 0OO0OOOOO
O000000RODO vartlett.test(DOOO -~ 00000)D0000O00O0O00DOODODOO
000000000000 0OFligner-Killeen 000000000000 ROODfligner.test(O
000 -~ 00o0o00)yoooooooo0oo0o0ooooooo0ooooooooooooo
goo0oooOoooOoO0oo0o0COOOOOOO0OOO0OO0DOOOOOOOOOOOOCOOOOOO
0000000 (Shapiro-Wilk) 0000000000000 00D00O0O00O0DOO0O0ORDODO
shapiro.test(0000) 00 0000000000000 0O000OD0O0O0O0ODOO0O0OODOOO
goo0oooOoO0ooO0oo0o0COoOO0OO0OO0OOO0OO0DOOO0OO0OOOOOOO0OOOOO0OOO
go0ooo0o0obDO0O00o00oOO0ObO00000
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e 0000000000000 0D000000 Ri(i=1,2,...,k k0000)
00000

e J000000O0OOOOOOOOOOD n, 00000000000000
0 NOODOOOOOOOOOOOOO B; O B; =ni{Ri/ns — (N +1)/2}2
0000000

000 BOODODOH=12-B/{N(N+1)}000 HOODOOOOOOO
gooboobooboooboooboobooooooooooboooboboboboo
000000000000 00oo0o0o ADOOO
H
A
1_N(N2—1)

H =

000 HOOOOOO HOO0OO0OO

e HODOD H' OOODODDODOOOODODODOODODODDODOODDOOOODOOOODO
O0o0000o0o0oooU0o0ok>40000000000000O0O0OO
0040000000 k=30000000000000000000S500
O0O0HO H'OOOO £—-100000000000D00000000ODOO

gobooooboboboooooboooobbbooooobobboooobobooobo
000 (Friedman) 000000000000000ROO0O friedman.test(00
00 ~00000)000000D000000000000DOO0D0O00O00
g00O000O00oO00Oo00o0o0oO00ooO0oODUODDbDODO 20000000
2010000000 2020000000000000000DOO00ODODOOODODO
gbooooobooomooooobooobobooobobooboooboobooooo
0000000000000 00000000000 Soooooooooooo
gboboboboobooboooboooooboobooboboboboboboOobobo
goobooooboobooobooooboooooOoboooooboOooDbbooDbobbooo
Q0O SO 1200000000000000000000000000O0OOOOO
oboboooboooooooooooooooooboobo0obobobobOobooDo
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gbobooboobooooooooobobobobooboooooboboon
Kruskal-Wallis 00O O0O0000000O0O0000O0O0O0O0OO0OO0OOOOOOOOOO
00000000000000000¢t00*000000*0000000000
ggooooooboboooobobooobooooobooboobooboboobbooDbobooo
gbobooooooooooooooooooobooboobOobobOobOobOoDbo
0000000000000 o00o0oooooooooos%0000000000
001000000000 5% 000000000000000000000000
ooooooooboooo 210000000000 DOO0bOOoOoDOoOOOoDbOD
gboobobobooboobbobooboboobobboboobobotobo
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t00000000LSDUOOO0O0O0OUOO0OOO accept0 000D

gboboboboboboboboboobobobooboooboboboboon
O (Bonferroni) 00000000 (Scheff§) D0 O0ODO0D0O00O0 (Duncan) D000
00000 (Tukey) D HSDOO OO O (Dunnett) 0000000000 (Williams)
gbobooooooooooooooooooobooboobobobobOobobao
goooobooobooboobooboobooboobobobobbobooobo
gbobooboboobooboooooooboobobobobobobobOobobo
0000000000000000U0o0 HSDOOOoOoOoOooooOoooooooo
goooooobobooobooooboooooOoboooooboooDbboobobbooo
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gbobooooooooooooooooooobooboobOobobOobOobOoDbo
oboobooobo

*60000000ROO t.test(height [vg=="X"],height [vg=="Y"]) 000

*"0000000ROO wilcox.test(height [vg=="X"],height[vg=="Y"]) 000

* 0000000000000 0000000000000000000000000000000
goooooo0ootoboO0oobOOo0OboO0oO0O0bOO0O0OO0O0OO0O0O0OO0OO0OO000O
gooooooooboo
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0000000000000 ooobobooDoo0oooooooooooo
Ogoooooooooooooooooooooobooooooooooooooo
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0000

000000000000 000o0oOo000O0ooDOo0oo0oo04000000000
000000 0O0000O000DoD0o0000p =wp =3 = 000000
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P,x(k-44+1)000000000000000000DOOOOCDOOOOOOOO
0000008000000P 0000D0OO0000OP,0000000000
oboboooooboooooboooobooOoooboooboobooOobOoobooon

ooo

ooboooobooooboobooooboooboooobooboOoooboobooOoOoooboooo

ogbooogooooooooooooood

oooooooa X-Y X-Z Y-Z

00000000 t000BonferroniOOO  0.8841  0.1283  0.0052
t00000000Bonferroni 000 1.0000 0.1422 0.0026
00000000 t0O00HolmOOO 0.2947 0.0855 0.0052
t00000000HolmOOO 0.3475 0.0948 0.0026
00000000000 Bonferroni 000 1.0000 0.2162 0.0078
00000000000 Hom OOO 0.4865 0.1441 0.0078

1042 OO0OOOOO HSD

000000 HSDOOOOOODOOODOOOOoOoOooooooooooooo

oooooooooon

0000010000 e0OO0ODO0OO0ODDOO n00:=1,2,..,a000000
0000000000 i00 jo000000 »; 00000000000 1000



116 0100 0000000000000000O0000000

04000 V,00

Uz
f,': E xu/nL
j=1

n;
Vi= (zij —@)*/(n; — 1)
j=1
000000000 Ps00000 VOO

Pe=N-a=n1+ns+..+n,—a

Ve = ZZ(% — 1)/ Pp = Z(ni —1)V;/Pg

i=1 j=1 i=1
gpooogoo

0000000000000 HSDOOOOOODOODOOoOoOooooooooo
oobotpoobooobobotooobboobooooobooboboboooooa
(Studentized range distribution) D00 00000 (1 —«) x100%00 v2000
gbobobobobio «boboboboobobobobobobobobon

1. 00000000000 o0oooo HSboooOooooo

{H,2y, Hivgyy oo Hiay, Hyz,3y o Hia—1,0)

[\]

0000 «00000a=005000 «=0.010000000000
.0o000oo0o000ooo0o00o0o00 2,V,00000Pg,VeOOOOOO
.00002000000000000000000 ¢;0

NG

tij:(fj_fj)/ VE(l/n@-&-l/nJ)

000000004,5=1,2,...,a;i < jI

- |tijl > q(a,Pp;e)/v/2 00 H; ;, 00000i00 jO00000000
00000000000000000000000000000000 @
|tij| < qla, Pg;a)/v200 Hy ;3 000000000 g(a, Pp;a) 0000
0000 PpO0O0DODDOOOODO0OO00OO00D (1-a)x100%00
O0000000a=0.050000¢(a,Pp,0.05) 0000 a0000 PpODO
0000000000000000 9%%00000R0O0O0O0O0O0O0O000
000 0Oqtukey(0.95,¢,Pp) 0000000000000 00000OOO
0000000000000000000000

ot



104 0000 117

000000000 RO TukeyHSD(aov(height "vg)) 00O OOD0OOOOOO
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Tukey multiple comparisons of means

95% family-wise confidence level

Fit: aov(formula = height ~ vg)

$vg

diff lwr upr
Y-X -2.538889 -8.3843982 3.306620
Z-X 5.850000 -0.9598123 12.659812
Z-Y 8.388889 2.3382119 14.439566
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x <- read.delim("111-1.dat")
attach(x)
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Relationship between HEIGHT(cm) and WEIGHT(kg)
in Solomon Adult Males

100
|

90
|

80
|

2
= X X Z 7z X
T o _|
0] ~
o vZZYYy
2 X Y 7y
o | X vY
S Yy
yxz X z
Y
Y Y
3 Y X
Y Y
o _|
<
T T T T T
140 150 160 170 180
HEIGHT(cm)

0111 000000000000C000COOO0O0C0O0O0C0O0OO0
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Ooo0oooo0OooooO0OoOooooOoUOobooOoOoooopyY =nRTO0O00
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000000000000 D00 (correlation) 00000000 DODOO (positive
correlation) 00 O OO (negative correlation) 000 0000000000000

plot (HEIGHT [VG=="X’], WEIGHT[VG=="X’], main="Relationship between HEIGHT (cm)

and WEIGHT (kg)\n in Adult Males in South Pacific 3 villages", pch=’X’,

col="blue", x1lim=c(140,180), ylim=c(40,100), xlab="HEIGHT(cm)", ylab="WEIGHT(kg)")
points (HEIGHT [VG=="Y’], WEIGHT[VG=="Y’], pch=’Y’,col="red")

points (HEIGHT [VG=="Z’], WEIGHT[VG=="Z’], pch=’Z’,col="green")

detach(x)
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000000000000000000000 (Spearman) 1000000 pOO00
0000 (Kendall) 00O O00 70000
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YL - X))
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to =

r <- cov(X,Y)/sqrt(var(X)*var(Y))
n <- NROW(X)
t0 <- r*sqrt(n-2)/sqrt(1-r-°2)

O0002x(1-pt(t0,n-2)) 0000000000 DOOcor.test() D OOODOOO
000000000 0cor.test() 0000000000000 0OOOOODODOO
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1)/(exp(2a) + )00 0O (exp(2b) — 1)/(exp(2b) + 1) 00 O *80

Z(a/2)

*6 O00cov(X,Y)/sqrt(var(X)*var(Y)) D000 O00D000 cor(X,Y) ODODOO

*T Z(e/2) 000000000 100x (1—a/2)0000000000 ROOOaO alphad00
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O00000OORDOO cor.test(X, Y, method="pearson") 00O OOOODO
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OO0 Ocor.test(X, Y, method="kendall") D0 OO0 0OO0O0OO0OO0OO0ODOODOOOO
O00000DOalternative OO0 0OO0OO0DOODMMDODOOOOODOOOOOOO
00000000000000000 9%%00000000000000000
cor.test(X, Y, alternative="g") 0000000000 OOOOOOOOOO
000000000000 00o000oO0o0o0ooOo0U0bOo0ooDoooooooo
000d0ooooooobObOooO000000ooooDoDoObO000gad exact=TO
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year <- c(1984:1993)

central.league <- c(28,29,29,31,31,31,31,32,35,34)

pacific.league <- c(13,12,16,18,21,23,22,24,24,24)
plot(central.league”year,pch="C’,x1lim=c(1984,1993),ylim=c(10,35),
ylab="average number of scoreline (x 1,000)")

abline(lm(central.league~year) ,lty=1)
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(x3,y3)

(x4,y4)

(xLyl)
(x2,y2)

y=bx+a

0113 0000000000000000DOO000O0O0O0ODOO

points(pacific.league”year,pch="P’)

abline(lm(pacific.league~year) ,lty=2)
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i=1
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i=1 i=1 i=1 i=1 i=1
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—— =2 2 P — i) =
5 na + (b;x ;y) 0

n n
na = Zyi — bei
i=1 i=1

ie. a=(yOOO0)—(z000)x*b
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i.e. wa?zEmiyi—azﬂfi
i=1 i=1 i=1

000000000 e0 bODOOO0ODODOOOODOOOODDO
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0000020000000 2,5 00000 ;0000 v 00000000002, 0000
0000 «;00000000000000000000



128 0110 00000
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oboobogooooboooobooboooboobooboobobooobOooboD
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obobooooobooobooobooooooooooobooboobobobobOoboDbo
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goooooobobooobobooooboooooOoboooooboOooDbbooDbobbooo
ooooooobbooobobooobooooooooOoboOoobooobbooDboboooD
gboboooooooooooooooooooboboobOobobOobOobOoDbo
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000000 «.000000YOOODO uy..,000000000000000O0
0000 ROODO000000uy.. = py+R2(z—p,) 00000000000
O0000pyz—2=—(1-R)(x—p,) 0000002 > p, 000 py,<z00
O0x<upu, 000 py,>z000000000Galton 000000000 OOCOO

to(b) =
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000 y0O0O0O0O0OO0OO00O0DDO0O0O0O0O0O0DO0O0O0O0O000O000O0 (saturate)
ogooooooooo0o0o0o0oOoOoOoUoLoUoOoOooOooooooooooooOoOd
oooooobobooobobooooboboooooboooboobooobooobboobbbooo
oooooooboooobooboooobooooooboobooOoboOoooboOoobboooobobobooo
ooooooooooooooooooobooooboOoboOoOobOboOoobboOoobooooo
gooooooooomooooooooooooooomoooooooooo
O0000000000000O0truncated distribution 0000000000000
0000000000000000000000000000000000%*20

ROODOODOOOOOOOOOOOOOOOOOOOOOD ImOOO0ODOOOOOO
Im(Y'X) 0000000000000 0000000000000000000
O0000000O0summary(Im(Y™X)) 0000000000000 O0DOOOOO
ooboooooooooooobooooobooobOooooOoboOobooOoboOoboooOoo
tboodooooooooooooooooooooooooooooooooboOoon
gooooboooooooOoooOoOoooooooooooooooooooooo
Generalized Linear Model 0D OOROOO0D000 glm(O) ODO0O0OO0O0O0ODODOOO
O00000000Y =p+pX+c000000000O0YOOOODOOOXO
O00000B 0000000000000 0000MO0O0DO 130000
ooo

2000000000000 00000000000000000000000000000000
gooo0oo0o00o0000b000000000000O000O000O00O000O0O0DOOOO0O00O0
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oooboooobobooobobooooboooooboOobooboOoooOooboboOooboboOooon
oboboooboboooooobooooooooboooboboooboooann
oooooo0oo0oOoOooOoooooooooooooooooooooooooo
ooooocOo0oooOooO00oOooO0O0oOOoO0O0 1800000 oOoOooooOoooO
oooooooboooobooboooobooooooboobooOoboOoooboOoobboooobobobooo
ooobooooboooboooobobooooobooooOoboOoooboooooo

ooooocooooooooOoOooOoOoOobOOODbObOOoOoOb0OOO00O001950
000000194900000000000000000000000000000
ogoooooooooooOooooOoUooooooooooooooooooooo
oobooboboboooooooooooooooooooooooooooooooo
oooooobboooboboooobooboooooboooobooobooobbooobobooo
ooboooobbooobobooobooooooobooboOooboboOooDo

ooboooobooobooboooobooooobooooboOooobooboOoOooobooOooo
ooboooobobooobobooooboobooOoooobooboOobooOoobboOooobooboooon
oooboooobooobobooooboboooobooboobooboooobobooooboboOooon
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ooooboobooboooboooboobooobobooobOoOobo0ooboUobOobobooDooo
boooboooobooooobooobobooobooobOooboobOooboooOoon
goooooooooooOoooooUooOooooooooooooooooooo
ogoooobooooooooooooooooooooooooooooooooo
ooobooooboboooboboooobobooooboooobooobooobboobbbooon
oboooobooobooobooooooooobooboobooboobooboobooomoon
ooboooobobooobobooooboooOooboobooOoboOoobooboOoobboOooboboooon
oooooooooooooobooooooOobboOoOoOoOoOobOOmOoOoOobOboOoOon
oooboooobooobobodooobobooooboobooboobooOoobobooooboboooon
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oooooboooooooboboboooboboobooboooooooobboooobooboo
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000000D00000000D0000000D000000000000000
0000 (1998) 000000 Kremer (1993) 0000 000000000000
00 121000000000*000000000000000000000000

1 00000000000000 (http://www.census.gov/) 0000000000000 0O0O0
*2000000000RODOOOOOOOOOOOO

# world population (x 1 million) estimated by Kremer 1993
YEAR <- c(-1000000, -300000, -25000, -10000, -5000, -4000,
-3000, -2000, -1000, -500, -200, 1, 200, 400, 600,
800, 1000, 1100, 1200, 1300, 1400, 1500, 1600, 1650,
1700, 1750, 1800, 1850, 1900, 1920, 1930, 1940, 1950,
1960, 1970, 1980, 1990, 2000)
POP <- c(0.125, 1, 3.34, 4, 5, 7, 14, 27, 50, 100, 150, 170, 190,
190, 200, 220, 265, 320, 360, 360, 350, 425, 545, 545, 610,
720, 900, 1200, 1625, 1813, 1987, 2213, 2516, 3019, 3693,
4450, 5333, 6000)
#
POP <- POP*1000000
BP <- 2001 - YEAR
#
op <- par(mfrow=c(2,2))
#
plot (-BP,POP,type="b",xlab="- \"Years before present (=X)\"",
ylab="World population (=Y)", axes=F)
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axis(1l,at =

labels=formatC(my.at,format="£fg"))
axis(2,at = my.at <- c(0,2%1079,4*10°9,6%1079), labels=formatC(my.at,format="£g"))

#

plot(-1ogl0(BP) ,POP,type="b",xlab=expression(log[10] (X)) ,ylab="Y",axes=F)

my.at <- c¢(-1000000,-800000,-600000,-400000,-200000,0),

axis(l,at = my.at <- c(-7,-6,-5,-4,-3,-2,-1,0), labels=formatC(my.at,format="£fg"))
axis(2,at = my.at <- c(0,2%1079,4%10°9,6%1079), labels=formatC(my.at,format="£fg"))

#

plot (-BP,1log10(POP) ,type="b",xlab="-X",ylab=expression(log[10] (Y)) ,axes=F)

axis(l,at = my.at <- c(-1000000,-800000,-600000,-400000,-200000,0) ,
labels=formatC(my.at,format="£g"))
axis(2,at = my.at <- c(2:10), labels=formatC(my.at,format="£fg"))

#

plot(-1og10(BP),1log10(POP) ,type="b",xlab=expression(log[10] (X)),
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Y=10.93 + 0.9157 X

o
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o
= 8
N
©
[To) o &
T T T T T 1 T T T T 1
-6 -4 -2 0 -1000000 —-400000 O
—logyo(BP) - "Years before present (=BP)"

0122: 0000000000000000ODOO

00000000000 0C0C000000000000000C0000DCO00 Deevey
000000D00000D000*0
ooboooobooooboooooboooooboOoooboOoooboobooOoOoooooo

ylab=expression(log[10] (Y)) ,axes=F)

axis(l,at = my.at <- c(-7,-6,-5,-4,-3,-2,-1,0), labels=formatC(my.at,format="£fg"))
axis(2,at = my.at <- c(2:10), labels=formatC(my.at,format="£fg"))

#

par (op)

*310000 00000000000000000000000000000000000000000
000o0oO000o00O0O00000O0000000000000000000m200000000000
goo0obooOoboooOoooO0oO0bDOO0OO0OOO0OO0OO0OO0OOO0OO0ODOOOOOOOOOOO0OOO
goooo0oo0o0obDO0O0O0oO00OO0b000o00
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00000000000000000000000000000000000000
00000000000000000000000000000000000000
00000000000 000000000000000000000000000
J000000000000d0dddddddooooooooooooooo
00000000000 000000000000000000000000000
00000000000000000000000000000000000000
0ooo*o

000000000000000 122000%000000000000000
00000000000 000000000000000000000000000
000 Deevey 00 0000000000000 DOOOODOOOOOOOODOO
00000000000 M0000000000000000000000000
00000000000000000000000000000000000000

*“00000000000000000000000000000000000000000000
goo0oooOoooOo0OoO0o0OOOO0OO0OOO0OO0OOO0OOOOO0DOOOOOOOOOOOmOOO
goo0boo0o0oO0O000000000D0O00O000DOOO0O0DOOO0O0OO00O0OO000D0AO0
00o0o0o00o00b0O000000000Db00000200000000000000000000
gooooooOooo0ooOobooOoooooOoooo

000000000 ROODDOOOOOOOOONDOOOO000O0OON000OON000O0OONoooooon
oooooooooo

POP <- POP%*1000000

BP <- 2001 - YEAR

LPOP <- logl0(POP)

LBP <- -1logl0(BP)

reg <- 1lm(LPOP~"LBP)

op<-par (mfrow=c(1,2))

plot (LBP,LPOP,type="p" ,axes=F,xlab=expression(-log[10] (BP)),ylab=expression(log[10] (POP)),
main=paste("Y=",formatC(reg$coefficient[[1]],width=5),"+",

formatC(reg$coefficient [[2]],width=5),"X"))

axis(1,at = my.at <- ¢(-7,-6,-5,-4,-3,-2,-1,0), labels=formatC(my.at,format="£g"))
axis(2,at = my.at <- c(2:10), labels=formatC(my.at,format="fg"))
abline(reg,col="red")

plot (-BP,POP,type="p",xlab="- \"Years before present (=BP)\"",

ylab="World population (=POP)",axes=F)

axis(l,at = my.at <- c(-1000000,-800000,-600000,-400000,-200000,0) ,
labels=formatC(my.at,format="£g"))

axis(2,at = my.at <- c(0,2%¥1079,4%1079,6%1079), labels=formatC(my.at,format="fg"))
points(-BP,10" (reg$coefficient [[1]]+reg$coefficient [[2]]1*LBP),col="red",type="1")
par (op)
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obooooboobOoooob0ooooooOoOoooobOobOOoOoOobOOoOoOobOooOoon
oboboooboooobobooboooooooobOooOooboboOobOoDbOooboOon
ubooooooboooboooboboobOboOoOobOobbOOoobbOooobOoooo
Nelder-Mead 00 0000000000000 OO0OO0OOODOOOOOOOOO
O000OO0O0OPowell 00ODOOOOOODODODOODODOOROD optim() 00000
O Nelder-Mead 0000 BFGSO SANNOOOOODOOOODOODODOOOOOO
Powell DOOOOODO

0000000000ooO0o00oooo0oooo0oo+wooo0 NOOOOoOo
r000000 NoODODOODOOO Koooo

e 000D0D0O000: dN/dt=rNOODO N = Npe™
0DDDDDDDDDDDD:dN/dt:’r'N(K—N)DDD
K

T 1+ (K/Ny — 1)e 7Kt

e JJII0I0O0OOO: DODOOOOODOUDDUOUUOOUUOUOOUOUOO dN/dtZ
rN?2000000019580000000000000002026000000
gobooobogoosoobooooooboobobobooooooo
goboooboobO0oobOOo0obOmoobOoobDoobobooboobobooboo
oboooo

e 1000 0OO0ODDOO: ODODOOOODDODOOOODDODODOOOOODODO
0gooooooooooooooooobooooooo pDDDDdN/dt:
ANy Jdt + dp(N — Ny)/dt = 1Ny + pro(N — N) 00000000000
gooboooooboooo

N

oooooobooooboooobobooooobooooboOoooboobooOobooobooo
0*000000000000000000000000000000000000

*“RO0DDDO0O0OO0NsO0000000000000000
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uboboooooooboobooOoooboboOoOooUoboobOobOoOoOobOooooon
ooboooobobooobooobooooobooboobooooOooboOooobooOooon
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oobobooobooboooboooboboooboooboboooobooooboooooobooooo
ooboooobobooobobooooboooOooboobooOoboOoobooboOoobboOooboboooon
ubooobooooboooooobooboOobooooboOooboooOoobobooooon
obobooooobboobobooobooooobobOooooobooooan
oooooooooooOoooboOooboOoooobooOoooOooboOooboOoooboOoon
ooo

1222 0OO0O0OOOO

oboboooooobooooobooobooobobooboOoooobooobOoDbOooo
oooboooobobooobobooooboooooboOobooboOoooOooboboOooboboOooon
boboobooooboooodooobooboooooboooobooobOooboooaon
oooooo0oo0oOoOooOoooooooooooooooooooooooooo
oooooobobooobobooooboboooooboooboobooobooobboobbbooo
oooooooboooobooboooobooooooboobooOoboOoooboOoobboooobobobooo
oobooooboboooboobooooboooOoooOobooOoOoOobooOoOoobboOooobooboooon
ooboooobooobooboooobooooooobooboOobooOoobboooobooboooon
ooboooobobooobooobooooooobooooooOooboboooobooOooon
ogooobooooooooooOoOoOoooooooooooooooooooo

0000000000000 D0DD0O0000000DDO00O (Auto Regression
000 ARODOOU0OO0O0OOU0OD0ODO0ODO0OOUOD sOOD0O0O0D0ODOUOOO

dat <- data.frame(N=POP,t=YEAR)

library(nls)

x <- getInitial(N"SSlogis(t,Asym,xmid,scal),data=dat)
xx <- nls(N"SSlogis(t,Asym,xmid,scal),data=dat,x)

summary (xx)

00000N=Asym/(1+exp((xmid—t)/scal)) 000000000000000000DOOO
goo0oboOo0oooO0oO0oo0o0CbOoOO0OO0OO0OO0O0DOOO0OO0DOOOOOOO0OOOOOOOO
oooooo
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go0oopoAlCOO0O0OOO0OO0OO0OO0OUOUOUOOOUOODOODODOOODOOOOOOOOO
0000D000«z()00000000002() 0 2(t+s)0000 Rep(s) 00 s O
00000000 Rae(s) = E((z(t) — p)(z(t+5)—p) 000000000000
00000 R, (0)0 2(t) 00000000 Reu(—5) = Rep(s)0 00000000
0000000000000 000000D0D0 2(t)0 2(t+s)0000O0DOO
0000 pea(s) = Rea(s)/Ree(0) 0000000 s0000000000000D0
0:2(0)=100000000000000000000000sO0O0DOOOOOO
0 pea(s)0 000000

0000000000000 00000000D00000DO0O00OO z(t)0O
s—100000000000D0D000D0 sODDODDOUODODODODODODUODDOUODO
000000000000 bDz(t)DOO0O0t0ODDO0O0O0OO0OOODDOOOOOO
00000 {a(m);m=1,2,..,.M}00000

M
Z(s) = Za(m)x(sfm)
m=1
000D «z(s)0OOD0OOODOOODOOODOOODODOODODOOODOODOOOO M
000000000000000000 (s)=2(s)—#(s)00000
N
lim 262(8)/1\7
N = 0051
000000000000 {e(m)} 0000000 MOODOOODO MOODOOO
00000000000e(s)0 z(s—1),..,2(s—M)00000000MDOOOO

*T00000002()00000000000000000000000000000000000
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oobooooboboooboobooooboooooboOobooOoboOoboboOoobboOoUoDboboOooon
oooooooooooOOOOCOOOOO0OOOOoOoOoOOOOOOObOOOOOOoO
ooo
ROOODOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOC0OO0
Oo0oooooooooobOoOooooooooooOoOoOoOoon 1990 110 23
000120 290000006000 200 200000000000000000
oobod0tempO0OO00O00O0OO0COODOO

temp <- c(23.5, 28.7, 24.4, 28.5, 24.5, 30.5, 25.0, 30.9, 25.0,

26.7, 24.1, 30.3, 25.4, 28.3, 24.5, 32.9, 26.0, 29.4, 25.7,
31.2, 24.9, 29.3, 24.6, 29.9, 24.8, 32.0, 26.3, 31.8, 24.2,
31.2, 24.7, 29.6, 24.8, 30.7, 26.8, 31.7, 25.4, 30.1, 24.8,
29.1, 25.4, 30.9, 23.6, 31.2, 26.1, 30.8, 24.9, 32.2, 26.2,
31.2, 25.1, 31.9, 25.8, 32.5, 24.8, 32.4, 25.3, 31.7, 25.8,
33.6, 25.5, 31.6, 26.0, 30.5, 25.0, 33.0, 25.5, 30.0, 23.5,
31.6, 25.9, 33.0, 24.8, 33.3)

0000000000000 D00000O00000000DOO0O0O0O00O0
ooo0o0oooo0o0obbo00D stemp OO0ODOOOOOOOODODOODO
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00000000000 0w(nr)DOODDODOOODODOODDOOLDDOOODDOO
0000000000000 000000D000000 win)ODODODOODOOO
0000000000 oO00o0o0D0oO000oO0o00oO000no0ooDoO00n
z(n) 0000000000000 D0O0DODO0O0DDOO0ODOOD 2(n)000D00O
z(n) = Fz(n—1)+Gw(n)Dx(n) = Hz(n)JOODOD FOGOHOOODOOOOOOO
00000000000000000 wn)d wn)+bwn—1)+...4+bywn—L)
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0o0oo0ooo*000o0oon

= 2mmt 2mmit 2mnt
z(t) = ag + QmZ_ﬂ(am €08 —— + by, sin T) + an, cos T

00000000 1/TO0OD0O00O0OO0OODOOOOOOOOOOOL/TOOOOO
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gboboooooooooooooooooooboobo0obobobobOobOoobo
0000000000000 0000DoDDoO (199%5) 0000000000

gboboobobobobobooboooooooooooooboboboboo
gbobooboboobooboooooooboobobobobobobobOobobo
oobooboobOobooOoboO0obOobOoOoOoOoOO0DbOoO0obOOobOomooobogoo
0o000000000000O000000 100000000000C0000C0O0O0
000000O000O0O000o0o0o0o0oOo0o0ooOo0oUbOoOO0ooDoooooooo
0000000 *%0000 200000002 0000000000000 (T,) O
x0000O0O0O0 (I,) 0000000000000 0000000000000 ¢,
00000000000(1-¢/2)0000 2000 2+100000000 L,00

R O0ODDDDDOOOODDDODOOOD survival 000D DODODOOODODODOO
library(survival) D0000000000000000000000 survEit() 000000
0000 coxph() DDODOO0O0O0OD survreg() OOOO0OO0O0ODD

10 0000000000000 00000000000000000000
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MOID MOBD C1BD G2BD C3BD G4BD C5BD C6BD C7ED CSED C9BD ClOBD ClIED
20102 20000 0 &40800 &30000 711014 740000
A2 250000 480415 560821 AF0000
A0L02 400000 550000 590000 AF000  AADRI0 ERI0LL 710312 741018 TEDALL o
F0602 450000 SEOO00  &O1004 B000  AS0000  E70000 &70000 720000 740000 750000 074
10502 400000 6OOT1E 630000 650307 60000 R0809
10102 400000 6SILO3 68l 0 720200 0 790517 0 G200  B4DSE  EE0RT  BN03Q2
F0102 490000 AROOOO 700000 TAN0 TS0000 FFO0000 BT
pLurlur) 490000 BE0000 720826 TE0000 830000
4E2 50000 TOOOD0  7ROKOS B0 GOLOIZ 910606
40l02 570000 FIOL4 730000 7TA0O0O0 700D SL0E21 40100 BMEOZ 92083
20502 SB0000  TAS06  MAOVGH 7606 B00407  BL1I26  SE0SIE  SlM406
50302 520000 7000 780000 BODODO  F0000  &70000 o
10402 MU0l TH3M TPE 7HE0l sE0llo
60302 460000 740000 770000 T0ODO  BODDOD  G20000
0202 S50000 740000 7BODOO  BODODO 40000  SF0000  SI0000  SI0000 941100
02 A000 750000 720000 800000 220000 850500 240000 820000 220000 240000
amm L0000 ?A0708 771020 7009 811002 850415 890806
30702 600000 BINS00  £20000  B000  F40000  SS0000 90092 SIMN 950604
30502 01205 B9 B80T BElZE
AT 530000 830212 850216 elE 950521
10802 30521 BADEZS  BA100R BOOT2T 9A03ER S4041E
A4 EI0000  BAIL14  BR0430 Q0130 910000 930625 950106
20802 €51114 M9 881111 om51% 911104
G0L02  SY0000  BESOO0  9SO90S
1002 670000 00000 Pl0000 9039
lizlir) 70000 00408 920210 240705
4202 S0000  SOI00F 931109
G024 630000 910000 20000
S0E02 H40000  RLIO0L $2102
20202 711014 SAE0L  $ILZF
10502 0E2  PNE®  S40GE
1002 91T PMAG 930S13
10702 €I804 530700
0Lz 720229 S4013
11102 BI0B09 40406
B2 7E0000 540611
50503 730000 950300
10602 40700 250317
20504 40004 F[0905
[uclic 40000 251024
70102 0 420000 450000 4000 520000 531225 550000 @30000 &M000

0123: 000000000000O0O0OODOODODOO

oooooooooooooooobooobobooob 0000000000000
Oooboooo «00000000000000000000O0O0O0O0O0O0O0000A0
ooooooobooog g ob0bob0obo0oboobobooboboboobobOoDn
oooooooboooobooboooobooooooboobooOoboOoobooOoOoobboooobobobooon
ooo /,0000000000000000O0000000C0OCOODOOOOOO0
,00000000000000000000000000O00000O0000000
ggobooooooooooooooooood
00000000000000000000000O0O00O00000 123000
goboooboboooooooooooooooooooooooooooooooo
od.... gobooobooooooooooooooooooboboooobooboooon
ooobooooboooboooooboooOoooOoboooOoooOooboboooobooboooon
ooobooooboboooboboooobooooooOobooboOoboboOoobboOooDboboooon
oooboooobobooobobooooboooooboOobooboOoooOooboboOooboboOooon
oooooobooobobooooboboooooooboobooobooOoobobooooboboOooon
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ooboooobooobooboooon
oobooooboooboooooboobooooboobooo

goboooobooooooooboooooobooooboboooobobooooboboooon
oboooooooooooboooobooOoooo
goboooboboooboooobooboooobooooboOoboooooooo
obooooboooboooobooooobodoobobooobbooooboooon
ooo

e JO00OOUOODOOODOOOOOODOOOODODOOODODOODDOODO
goboooobooooooooooooboooobooooboboooboboooon
ooboooobooooooooboooooobooooboobooooboobooooboooon
uboooocbooobooobooooooobOobobooboOoooobooobobooOon
0000000000000000000000000*1g

Ogoooooooooddoodooooooboooooooooooooooo
0dobodobooobooobuoooboooon 6,te,... 000000000
000000 di0t, 000000000000 de0 00000000000 00O0
o0 t,t.,.000000000000000 ny,ne,..0000000000DO
0do0bOoooobodooboooobobOooobOoOoooOboooobOoooobooa
00000000 00d0000o0ooooooObObO0o0o00o0o0oooooooooD
0000000000000 oooboboOoDoo0oooooooooooo
oo0oooodon, O0O00 ;00000000000 ODOOO0O0O0O00O0OOO0O
O0o00nm 0000000000000 0O000000b0 000000 oooooono
ogoooooboooooooooooooobobobboooooooooooooo
gdobOoooobooooooooooa S(t)l]l:l

S(t) = (1= di/m)(1 = dy/na)... = [ [(1 = di/ni)
1<t

gbobooobooobooobooobooooooooobooboboobobobobobobo
var(é’)zgzxZL
2l

oooboooobooooboooooboooOoooOoboooOoooOoobboOooobooboooon
ooooooooooooo

1 Opoo00000000000 90000000000000000000000000000
goooooo0obOo0O00b0O0O0O00000000000O0
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0124: 00000000000000O000O00OOODOODOOOOOOOOO

R OO0 0O1library(survival) 000000000000 0OOdat <= Surv(O
o0oooooooooOo)oUoOoOoOooooUODOoOooOooOooooOoOOo 10
00000000000 O0O0O0OO0O0oO0O0OO0O0OO0OO0D 200300000
res <- survfit(dat) 00 0000000000000 O0OOOOOOOOOO
plot(res) 00O OO0O0OOOODOODOOOOOOOOODOOOOOOOOOOO
summary(res) 000000 *20

*120p000000000000000000000000000000000000000000
difftime() OO0 ISOdate() DO 0000000000 OOODO

dob
1964-8-21

go0oooo0ooboO0oo0oo00 L12-1.dat 000 O0OO0OO0OOOCOOOOOOOOOO
x <- read.delim("L12-1.dat") 00O D0 O0O000O02003 0 60 11 00000000
000000 0Odifftime(IS0date(2003,6,11),x$dob) D D D 000D D0 DO OOOO
DateTimeClasses 00 0000000000 O0OOOOOOOOOOOOOOOOO0OO
as.integer(difftime(ISOdate(2003,6,11),x$dob))/365.2400 000000000 120
goooooooboo
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oobooooboooobooboooobooooooboobooboOobooOoboOoboOoOoOooboooo
ooooooooOooooOooOobooOooOooboOoOoOOoboOoOoOoOoOOOoOnn 1986
0000000000000 00 ROODOOOO*¥00000000000000
000000000 22000000000000000000 1240000

“1BOopopooooooooon

library(survival)

time <- ¢(17,14,22,37,12,15,19,26,29,23,20,18,9,9,3,2)
event <- c¢(1,1,1,1,1,1,1,1,0,0,0,0,0,0,0,0)

dat <- Surv(time,event)

res <- survfit(dat)

print (res)

summary (res)

plot(res)
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131 OO0O0OO0bOOoooooog

0110000000000 o00o0Dbo0ooboooooooDooooDooooto
odobooooboooboooboboooboooobobooooboooobooo
gdobooobobooobooobobooobbooobObuoooboboooboo
O000000000000000000 Generalized Linear Model DOOOR OO
0000 gm() OO0O*0

00000000000 00000Y =6+pX+e0000000000Y OO
00000X 000000000 ooooooooomMp,0000oop00000e
Jo0dooo@moooooooooboboooooooooooooooooo
0doboooooboooboooobooobooooboboooboboooobooa
gdbobooobobooobbooobobooobbooobobooobo

132 0O0O00ODOO0OD0OO0ODOOO0ODOODOODOOOO

oooooooooooOotooooooooOoboboOoooooobobboOoooo
boooooooooooooooooooooo

00000000000 (BD)OOODOODODODOOODOODOOODOODOOoOoO

1000 linear 0000000000000 O0O000O0OOO0OOOOOOOOOOOOOOOOO
0000000000000 0d0Dglm() 00000000000 00000D000000000
000000000000000000000000000000 (General Linear Models) O
O0O0SASO PROCGLMOOOOOOOO
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ooo 00O0O0 (Y) 0000 (X)

t0ooooo 000000 000000

00000000 000000 00000000

00000000 000000 00000000

0ooo 000000 000000

ooooo 000000 0000000000

ooooo 000000 0000

00000000000 000000 O000000000000000000
0ooooo 000000 000000

Oo0OWelchOOOOOOOODO

oooooooooooooooono

odotooooooooooooooooooooomoooooooooo
bobooobboobooooooooooooooooooooooooooo

000000000000 0000000000 (HARD)OODOOOOOOOO

ooooooooooooooooooooo
0o000ooO0oooooRrROOO

BD <- ¢(1,1,1,1,1,1,2,2,1,1,2,1,1,2,1,1,2,2,1,1,1,1,1,2,1,1,2,1,1,2,1,2,1,1)
HARD <- c(88.280, 103.500, 119.600, 96.210, 109.340, 100.500, 81.390, 75.715,
112.880, 101.150, 84.400, 102.900, 65.000, 97.445, 101.850, 79.100, 103.620,
69.270, 97.090, 101.150, 89.820, 108.560, 98.810, 103.620, 85.940, 89.230,
69.300, 101.150, 101.150, 73.070, 62.695, 148.590, 93.080, 103.500)

0000000000000 t.test(HARD ~ BD, var.equal=T) DO OOO0O
ooooooooooooooo

Two Sample t-test
data: HARD by BD
t = 0.8843, df = 32, p-value = 0.3831
alternative hypothesis: true difference in means is not equal to O
95 percent confidence interval:
-7.444719 18.867802
sample estimates:

mean in group 1 mean in group 2



132 0000000000000000000080 149

96.35354 90.64200

ooooooooboooooooboooooobooboooobooo
00000000 oOoooooooooooOoROOODODOOOOOOO
summary(glm(HARD ~ BD)) 00O 0000000 OOOOOOOO

Call:
glm(formula = HARD ~ BD)

Deviance Residuals:
Min 1Q Median 3Q Max
-33.659 -8.957 3.301 7.061 57.948

Coefficients:
Estimate Std. Error t value Pr(>ltl)
(Intercept) 102.065 8.861 11.518 6.41e-13 *x*x
BD -5.712 6.459 -0.884 0.383
Signif. codes: 0 “*xx’ 0.001 ‘*x’ 0.01 ‘*’ 0.05 ¢.” 0.1 ¢ ’> 1

(Dispersion parameter for gaussian family taken to be 294.4717)

Null deviance: 9653.4 on 33 degrees of freedom
Residual deviance: 9423.1 on 32 degrees of freedom
AIC: 293.72

Number of Fisher Scoring iterations: 2

OO0O00O0OOCoefficients: 0 BDOOOOOOOOOt valued —0.8840000
0000 03830000000t 0D0oDOooDooDOooDtoooonooooat
00000000ooO0o0ooboooobo0oDbOoo0ooDobOoOoooDooOgn
00o0o0o0ooooooooOoooooooooooooDobooooooboooooo
godooboboooooobbootoooooboboboooooobobooboooa
gdbobuooobobooobuooobboobobbooobbuooobbooboboo
gobobooobbooobobooobooobobuooobboo
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133 ODO0OOoO

ooboooobooobobooooboooooboOoooboOoooOoboOoboOoOoOobooOooo
ooboooooooboooooooooooooo
odoooooooooooooOoOoooOooooooooooooooooooo
ogoooobooooooooooooooooooooooooooooooooo
ooobooooboboooboboooobobooooboooobooobooobboobbbooon
ooooooobooooboboooobooooooboOoobooOoboOoooOoOoobbooOoobobobooon
ooboooobobooobobooooboooOooboobooOoboOoobooboOoobboOooboboooon
ubobooooboooboobooboooooboOooobOoobOobOooOoobOoooOon
goboooobobooobobooobobooooboobooboobooooboooobooboOooon
goboboooooooooOoOoOooOooOoooooooooooooooooooo
goboooboboooOoooOoooooooooooooooooooooooooo
ooooo
ooboobooobooooboooobooobooobooooobOoOooOoobOooooo
AlCoOooooo
uboboooooobooooboobooboooboobOooOoOotooboOobOooo
oooboooobooobobooooboboooooobooboobooOoobobooooboboOooon
oooooo0oo0oOoOoooooooooooooooooooooooooooo
oobooooobooooboboooobooooooobooOoooobo0oobboooDbboooD
oobooooooooooooooo
oobooooboooobooboooobooooobooboOobooboOoooboOoboOoOoOooboooo
ooobooooboooboobooooboooooboOobooOoboOoboboOoobboOooDboboOooon
ooboooobobooobobooobooooooOoboobooooOooboooobooOooon
ooooooooooooobocoooooOoOoboOooOooOooOobOoOoOoOoooboboOooo
ogooooo0ooooooooooooooooooo
ooboooooboooobooooboboooooboooobooobooobooOobooobooo
0000000000000000000000 5%00000000000000
oobooooboboooboboooobooooooobooboOoobooOoOoobboOoobobobooon
ooboooobooooboooobooOooooOoooOoboOoooboboOoooboogg...... oo
gobooooboooboboooobooboooobooboobooooooboboooobooboooon
gobooooooooooOoOoOoOooooooooooooooooooooooo
goboobobobooooooOoooooooooooooooooooooooooo
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00000000000 0000000OO0SASOO PROC REGO MAXROOUO
ooboooobooooo

134 0OD0OO0OOO

000000Y = 6o+ 5iX1 + B Xo + fr2XaXo +e 000000000000
00 X;,ooooooooooooooooo yooooooooooooooo
000000y OdODOOoO0O X, OOOOOOooooooooo X, 0oooooom
X, 0YDODDOOOOO (slope)0 X, 00000000000D0O00DOX,00
00000000 YOODOOOOadjusted mean; 00000000000 X, 00
gdobooobobooobooooo

ROOCOX, 0000000 cCO00OCO factorJO0OO0OO0OO0OD0OMMX, 0000
000 XO000YOOOUOOOO YOOOUOUO summary(glm(Y™C+X)) DOOOOX
oooboboooboooocboybboooooboooboooboboooobooobobooo
J000d0d0oooooooooc20p0b0b0OoO0oObObObODOOO0OO0O00oooooao
Joodmoooooooooobbooooooooooooooboooooo
00000000000000000D000D (slope)0000DO0O0DOOODOODOO
gooooooboobobbboboboogooobobobobbbobobooooooobooDoo
000000 summary (Im(Y [C==1]"X[C==1]); summary(1m(Y[C==2] "X[C==2])
0000000000000 00000000 O sumnary(glm(Y"C+X+CxX)) OO
00000000000 00ooooooo0o00o0o0ooooooooboooooao
gocO X00OoooooooOoyYOoOooOoooOoOooOOOODOOCoefficients
gc2:xgooooobooobooobomooobooooboooboooooo
gdobooobobooobooobobooobbooobObuoooboboooboo
gdbobuooobobooobuooobboobobooobbuooobboooboo
goooooobobooobobooooboooobooOoboooOooboooDbboobobobooo
ooooog

0do0boooooooboooobOoooocodoobooboooooboooooo
(X,Y)0ODOOODOOOOOy=m+/eldy=a+G,x 000000000000
00000000000 00000000000000000000Hy: B = [0
H :5#6,00000000000000000O0O0y000000O0OOOOOO
DDDDDDDﬂliﬂQDDDDDH():alZQQDH{:al#QQDDDDDDDD
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00000XO0YOOOOODOOOODOO0OO00O0O00*2000 F,0000000

ooo
dy = SSy1 — (SSxy1)?/SSx1 + SSys — (SSxy2)?/SSx2

000 Hyoooooooooo

dy = SSy1 + SSya — (SSxy1 + SSxv2)?/(SSx1 + SSx2)

00000 F=(d—d)/(d/(N—4)0 H,OOOODO 1000 100 2000
N-40FO0O0OO00O0OO0OOOO0ODO0O0OO0D0O0O000000000H,00
000000006 =SSxy1/99x10082 = SSxy2/SSx, 00000000000
O0yO0D 0000000000000 000O000O00000H, 000000
000000000 006 = (SSxv1+SSxy2)/(SSx1+8Sx2) 00000000
00000000 y0OOOODOOO0O00000 H,00000000000000
00000 d3 =SSy — (SSxy)?/SSx 000000 F = (d3 — d2)/(da/(N — 3))
0010001002000 N-30FO00000000000000000AH|O
00000000000000000000000000000000000000
00000000000 000000000000000000000000000
00O000o0oOoOoooooooooooo

20000000 N1OODOO0OO000 @,y 00000Exy =Y, 2;/N1OSSx1 =Y (z; —
Ex1)?0Ey1 = Y 5i/N10SSy1 = Y (yi — Ey1)?0 Exy1 = Y @9i/N10SSxy1 =
> (ziyi — Exy1)?00000000
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o0 B\

00000000000 00001990 00 100 00000000 OOO0CAR1990) 001989 0000 10 000000

oooooo (TA1989) 001985 DOOOOOOO0DOO0OOODOOOOO (DIDP1985) 00 0OOREGION 0O 1 00O

0002 00000000000000000000000000000000000000000 ooooooooag
PREF REGION ___CARI1990 _ TA1089 _ DIDP1985
Hokkaido 1 36 11.6 66.7
Aomori 1 78.9 9.5 42.2
Twate 1 86.6 9.7 27.5
Miyagi 1 92.7 7.9 50.7
Akita 1 90.3 8.1 31.2
Yamagata 1 104.7 7.1 36.7
Fukushima 1 102.7 12.1 33.6
Ibaraki 1 120.7 16.4 20.2
Tochigi 1 122.2 16.5 35.1
Gunma 1 123.9 11.5 38.2
Saitama 1 88.7 7.3 717
Chiba 1 86.4 8.8 65
Tokyo 1 58.2 4.1 97.1
Kanagawa 1 75.5 7.2 89.1
Niigata 1 93.2 11.1 42.6
Toyama 1 113 11.1 37.9
Ishikawa 1 99.1 9.5 46.4
Fukui 1 109.4 14.7 35.9
Yamanashi 1 112.8 13.8 31.2
Nagano 1 110.9 9.6 31.1
Gifu 1 119.7 12 36.8
Shizuoka 1 107.5 10.5 51.5
Aichi 1 107.2 8.2 67.2
Mie 1 106.7 13.7 38
Shiga 2 104.4 14.5 29.1
Kyoto 2 75.5 8.9 79.5
Osaka 2 62.8 5.9 93.8
Hyogo 2 75.6 8.9 71.7
Nara 2 86 9.3 52.7
Wakayama 2 83 11.6 42.3
Tottori 2 92.1 11.8 26.2
Shimane 2 86.9 9.9 23.4
Okayama 2 95.7 11.3 33.9
Hiroshima 2 79.6 9.7 58.5
Yamaguchi 2 84.4 11.5 44
Tokushima 2 90.7 10.9 27.4
Kagawa 2 89.8 14.3 32.3
Ehime 2 72.3 10.9 43.1
Kochi 2 74.9 11.3 38.4
Fukuoka 2 82.3 8 63.3
Saga 2 97.4 12.8 27.6
Nagasaki 2 69.3 5.9 41.6
Kumamoto 2 87.3 8.5 36.6
Oita 2 82.5 8.7 40.4
Miyazaki 2 85.7 7.4 39
Kagoshima 2 70.5 7.3 36.3
Okinawa 2 100.3 7.6 56.5

N J
000000*®00000000000000000000000000000
obbooobooobooobooooboobobOobUObObObObOObOOoOOobOOobOOoon
uobobooobooobooboobooobooboboooboobooobOooboobOoobooooon
coooooooooOoOobobooooobooooOoOoOOOoOOoODOoOoOOoOOoOoOoO
oooooo0oo0oOoOooOoooooooooooooooooooooooooo
oooooobobooobobooooboooooooboobooobooobbooobbooon
oooo

obobbOoObOOODOOOODOOODOOOOOOOODOOODOOOODOOOO

¥ 1km?000000000 4,00000000000000000000 500000000000
oo
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Cars per household in 1990

o
©

30 40 50 60 70 80 90

DID percent 1985

0131: 000000000000000000O0DO0O0O0O00O0O0DO0ODOO
0000000000000 13.1000000*0
ROOOOOOOOOOOOOO

summary (Im(CAR1990 [REGION==1] ~ DIDP1985[REGION==1]))
summary (1m(CAR1990 [REGION==2] ~ DIDP1985[REGION==2]))

*“0po0000ROOOOOOOOOOO

x <- read.table("anacova.dat")
attach(x)

ooooooooboOo0ooooo

plot (CAR1990 [REGION==1] "DIDP1985 [REGION==1],pch=1,
xlab="DID percent 1985’ ,ylab=’Cars per household in 1990°)
points (CAR1990 [REGION==2] “DIDP1985 [REGION==2] ,pch=2)
abline (1m(CAR1990 [REGION==2] "DIDP1985 [REGION==2]) ,1ty=2)
abline(1m(CAR1990 [REGION==1] “DIDP1985 [REGION==1]) ,1ty=1)

oooooo
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oooooooooo

Call:
Im(formula = CAR1990[REGION == 1] ~ DIDP1985[REGION == 1])

Residuals:
Min 1Q Median 3Q Max
-24.9808 -5.1307 0.9493 8.2336 19.2190

Coefficients:

Estimate Std. Error t value Pr(>lt|)
(Intercept) 127.9283 6.7699 18.897 4.3be-15 *x*x*
DIDP1985[REGION == 1] -0.5945 0.1333 -4.459 0.000197 s
Signif. codes: 0 ‘*xx’ 0.001 ‘*x’ 0.01 ‘*’ 0.05 ¢.” 0.1 ¢’ 1

Residual standard error: 12.24 on 22 degrees of freedom
Multiple R-Squared: 0.4747,Adjusted R-squared: 0.4508
F-statistic: 19.88 on 1 and 22 DF, p-value: 0.0001967

Call:
1m(formula = CAR1990[REGION == 2] ~ DIDP1985[REGION == 2])

Residuals:
Min 1Q Median 3Q Max
-16.1869 -3.3935 0.2297 3.4338 20.0706

Coefficients:

Estimate Std. Error t value Pr(>It|)
(Intercept) 98.2912 5.0750 19.368 7.12e-15 **x*
DIDP1985[REGION == 2] -0.3197 0.1047 -3.053 0.00604 *x*

Signif. codes: 0 ‘**x’ 0.001 ‘*x’ 0.01 ‘x> 0.06 ‘.’ 0.1 ¢ * 1
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Residual standard error: 8.904 on 21 degrees of freedom
Multiple R-Squared: 0.3075,Adjusted R-squared: 0.2745
F-statistic: 9.323 on 1 and 21 DF, p-value: 0.006037

oobooooboboooboboooboooooboobooOoOoOoooOoobboOoOoDboboooon

summary (glm(CAR1990 ~ as.factor (REGION)+DIDP1985
+as.factor (REGION)*DIDP1985))

goooo0o0o0o0o0o0o0o0o0oooUoUoUOooOooOooooooo 01180000
ooboooooooooooooooooooooo

summary (glm (CAR1990 ~ as.factor (REGION)+DIDP1985))

000 as.factor(REGION)20 00000000 0.060000000000000O
ooboooobooobboooobooooooboobooooooboooobooOoon
oooooo0oo0oOoOoooooooooooooooooooooooooooo

135 O00O00OOoOoboood

oobobobooboboobooboobooboooobooooooobooboboboo
gbooboooooboooboooooooooooooboobobobobobOoboDbg
000000000000 (General Linear Mixed Model) 00000000000
0000000000000 0oooCo0UdU0U0ORUOOOnmed0O0OoOOOOOQd
00000000000 140000000000000000000000 XOO0
0000000000000 00000 (mm)0000 160000 11000000
O0000000Orthodont 000000 ODO0OO0OOOOOOOOOOLibrary(nlme)
O00O0O0O0Oexample(lme) 000000000 DODOOOOOOODOOOOCODOO
gboboboboboboboboobooog
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nO000000000000000000000p0000 x1,22,...,2, 0000
gboboooboobooobooboobodpbbbobobOobOob0obO0obOO0ObODOnODbDODO
gdbobodobobooobooobooobob0Udpoobbooboooboooo
000000000 (principal component) 00 0000000000000

oooo0o &,é,.,4 00000000 c0000000000DO0DOO
ooo

P
&= Zlijxj
j=1

DDDDpZDDDDDDDlijDI:IDI:IDI:IDI:IDEIDEIEI r; 000000000
0000000000000 z;0n000000000000000000¢ 00
000000000000 000000000 O0DODOODOOODOO

B(&&) = {Zz KTk Z LmTm} =0 (i #])

m=1

000000000000 p(p+1)/200000000000000000000
ogbooooooooooooooo

p
Dl =0 # ), = 1(i = )
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